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The following table shows the distance travelled by a boat moving upstream (in km) during five
different days of a week from Monday to Friday, along with the speed of boat (in km/hour), speed
of stream (in km/hour) and total time taken (in hours). Some data is missing in the table (indicated
as ') that you are expected to calculate, if required. Based on the data in the table, answer the
questions that follow.

Day-Wise Distance covered by a Boat and other Details

D Distance Speed of Speed of Total Time

i Upstream(km)|Boat(kmyhour)| Stream(km/hour) [Taken(hours)
Monday 320 - 4 -
Tuesday - - - 75
Wednesday 270 - 6 -
Thursday - 11 7 -
Friday 324 - - 72

Note: (1) Distance Upstream = Distance Downstream, if not stated otherwise
(2) Total Time Taken = Downstream Time + Upstream Time



Sub questions

Question Number : 1 Question Id : 87827038592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

On Friday, if the ratio of speed of boat to speed of stream is 2 : 1, then what is the difference
between the time taken by the boat to go upstream and to go downstream ?
(1) 36 hours

(2) 42 hours
(3) 45 hours
(4) 35 hours

Options :

878270151641. 1
878270151642. 2
878270151643. 3

878270151644. 4

Question Number : 2 Question Id : 87827038593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Monday, if the difference between the time taken by the boat to go upstream and to go
downstream is 20 hours, then what is the total time taken by the boat to go upstream and
downstream ?

(1) 40 hours

(2) 30 hours
(3) 80 hours
&

4) 60 hours

Options:
878270151645. 1

878270151646. 2

878270151647. 3



878270151648. 4

Question Number : 3 Question Id : 87827038594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Tuesday, if the difference between the time taken by the boat to go upstream and downstream
is 45 hours and the downstream speed is 24 km/hour, then what is the total distance covered by
the boat to go upstream and downstream ?

(1) 680 km

(2) 720 km
(3) 740 km
(4) 540 km
Options :

878270151649. 1
878270151650. 2
878270151651. 3

878270151652. 4

Question Number : 4 Question Id : 87827038595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Wednesday, if the boat covered half of the distance upstream with usual speed and other half

3
with double its speed and it takes 331 hours less time the usual time to go upstream, then what is

the total time taken by the boat to go upstream and downstream ?
(1) 128 hours

2) 120 hours
3) 108 hours
)

(
(:
(4) 92 hours

Options:

878270151653. 1



878270151654. 2
878270151655. 3

878270151656. 4

Question Number : 5 Question Id : 87827038596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Thursday, the difference between the time taken by the boat to cover X km upstream and
(X+120) km downstream is 26 hours. Had the boat covered the same distance upstream as
downstream, then what would have been the difference in the time taken ?

(1) 58 hours

(2) 62 hours

(3) 48 hours

(4) 56 hours
Options :
878270151657. 1
878270151658. 2
878270151659. 3

878270151660. 4

Question Id : 87827038591 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Question Number : 1 Question Id : 87827038592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270151641. 1
878270151642. 2
878270151643. 3



878270151644. 4

Question Number : 2 Question Id : 87827038593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270151645. 1
878270151646. 2
878270151647. 3

878270151648. 4

Question Number : 3 Question Id : 87827038594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270151651. 3

878270151652. 4

Question Number : 4 Question Id : 87827038595 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR 1 A T 3 R-Hfeel GO 1 SN S T T F q 9 S ST v g e
mﬁmammwwﬁ@aﬁﬂwﬁmﬁwﬁwﬁSS%déaﬁqwmamamw—
e T ST T H el foa S o T

(1) 128 %@

) 12052
) 108 5@
) 929

2

ad

(
(
(4
Options:

878270151653. 1
878270151654. 2
878270151655. 3

878270151656. 4

Question Number : 5 Question Id : 87827038596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
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878270151658. 2
878270151659. 3
878270151660. 4
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Question Number : 6 Question Id : 87827038597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following tools can be used for virtual labs and simulations ?

(I) Plotagon

(2) Wakelet
(3) PhET Interactive Simulations
(4) Flipgnd

Options :

878270151661. 1
878270151662. 2
878270151663. 3

878270151664. 4



Question Number : 6 Question Id : 87827038597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151661. 1
878270151662. 2
878270151663. 3

878270151664. 4

Question Number : 7 Question Id : 87827038598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is the driving force for students’ commitment, engagement and perstistence
in self-directed learning ?

) Fixation

) Motivation

) Metacognition
) Assessment
Options:
878270151665. 1
878270151666. 2
878270151667. 3

878270151668. 4



Question Number : 7 Question Id : 87827038598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

@-Fiefvm e % Yo foenel 1 Yoesa, Ser aR deeum & fou fefafed 1 8 26 9 7
e

(1) i

(2) g
(3) AftrERE

(4) e
Options :
878270151665. 1
878270151666. 2
878270151667. 3

878270151668. 4

Question Number : 8 Question Id : 87827038599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I :  Passive style is a way of dealing with conflict in which people are nonassertive
and submissive and don't let others know what they want.

Statement I :  Manipulative style is a way of dealing with conflict in which people try to get
what they want by making others feel guilty for them.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct

Options:



8782701516609. 1
878270151670. 2
878270151671. 3

878270151672. 4

Question Number : 8 Question Id : 87827038599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151669. 1
878270151670. 2
878270151671.3

878270151672. 4
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Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



When students, who have learned to type on a typewriter, transfer this skill to typing ona computer
keyboard, it is an example of learning ?
(1) Far transer

2

High-road transfer

(
(3
(

)
3)  Near transfer
)

}

Low-road transfer
Options:
878270151673. 1
878270151674. 2
878270151675. 3
878270151676. 4

Question Number : 9 Question Id : 87827038600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270151673. 1
878270151674. 2
878270151675. 3

878270151676. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which factor plays a crucial role in creating an effective learning environment ?
(I) Teacher's qualification

(2)  Availability of instructional facilities
(3) Focus on foreign language use
(4) admission to students from elite class

Options :

878270151677. 1
878270151678. 2
878270151679. 3

878270151680. 4

Question Number : 10 Question Id : 87827038601 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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878270151677. 1
878270151678. 2
878270151679. 3

878270151680. 4

Question Number : 11 Question Id : 87827038602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Iclent'Lfy the software that would be useful for statistical anaJysis of data generated In a research
study :

(A) SPSS

(B) Ithenticate

(C) MINITAB

(D) R

Choose the correct answer from the options given below :
() (A), (B) and (C) Only

) (B), (C) and (D Only

) (A), (C) and (D) Only

) (A)

4 (A), (B)and (D) Only

2
(3
(
Options:
878270151681. 1
878270151682. 2
878270151683. 3

878270151684. 4

Question Number : 11 Question Id : 87827038602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270151681. 1
878270151682. 2
878270151683. 3

878270151684. 4

Question Number : 12 Question Id : 87827038603 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) : The quantitative content analysis in social science research is a very transparent
research method.

Statement (II) : The quantitative content analysis is often referred to as obtrusive method.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I s false but Statement II is true
Options :

878270151685. 1

878270151686. 2

878270151687. 3

878270151688. 4

Question Number : 12 Question Id : 87827038603 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270151685. 1

878270151686. 2

878270151687. 3

878270151688. 4

Question Number : 13 Question Id : 87827038604 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the context of a published research article, DOI stands for :

(1

) Data Object Integration
(2) Digital Object Identifier
(3) Data Object Interface
(4) Digital Object Interface
Options :

878270151689. 1
878270151690. 2
878270151691. 3

878270151692. 4

Question Number : 13 Question Id : 87827038604 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151689. 1
878270151690. 2
878270151691. 3

878270151692. 4

Question Number : 14 Question Id : 87827038605 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following measures would be useful for commenting upon the degree of asymmetry
in a statistical distribution ?

(1
(2
(3
(

Central tendency

Kurtosis

4)  Skewness

; Dispersion
)

)

Options:
878270151693. 1
878270151694. 2
878270151695. 3

878270151696. 4

Question Number : 14 Question Id : 87827038605 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151693. 1
878270151694. 2
878270151695. 3

878270151696. 4

Question Number : 15 Question Id : 87827038606 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following correctly represents the meaning of the abbreviation “vide” used inacademic
writing ?

(I) against

(2) width

(3) refer to

o

namely
Options:
878270151697. 1
878270151698. 2
878270151699. 3

878270151700. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

feeeferfin o & 171 e STl o H W < (vide) ' fifia o e o1 R et e &

Options :

878270151697. 1
878270151698. 2
878270151699. 3

878270151700. 4

Question Number : 16 Question Id : 87827038607 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A kind of fixation with medium itself is ::nnceptualised as :

(1) Hypermediacy

(2) Immediacy

(3) Media tendency

(4) Multi-mediacy
Options :

878270151701. 1
878270151702. 2
878270151703. 3

878270151704. 4

Question Number : 16 Question Id : 87827038607 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270151701. 1
878270151702. 2
878270151703. 3

878270151704. 4

Question Number : 17 Question Id : 87827038608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The cyberspace is normally compared to a type of electronic :
(1) Screen
(2) Salon
(3) Complex
)

(4) Agora

Options:

878270151705. 1
878270151706. 2
878270151707. 3

878270151708. 4

Question Number : 17 Question Id : 87827038608 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151705. 1
878270151706. 2
878270151707. 3
878270151708. 4

Question Number : 18 Question Id : 87827038609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true in respect of communication ?
(A) Communicated meanings are always ambiguous.

(B) Words are symbols for concepts.

(C) Labels may be ambiguous.

(D) Symbols are usually understood within a group.

(E) Sharing of meaning is not possible in communication.

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3)  (C), (D) and (E) Only
(4) (A), (B) and (E) Only

Options :
878270151709. 1
878270151710. 2

878270151711. 3



878270151712. 4

Question Number : 18 Question Id : 87827038609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151709. 1

878270151710. 2

878270151711. 3

878270151712. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (I) : Communication cannot reflect the cultural conduct of people
Statement (II) : Communication is a practice integral to formation of social life

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270151713. 1

878270151714. 2

878270151715. 3

878270151716. 4

Question Number : 19 Question Id : 87827038610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(4) U T &, TR HOR LT &

Options :

878270151713. 1

878270151714. 2

878270151715. 3



878270151716. 4

Question Number : 20 Question Id : 87827038611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I Communication is a social process in which people use symbols to interpret
meanings in their own environment

Statement 11 : Peoplte and their inferactions are not part of the communication process, because
communication cannot be social

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement Il are incorrect
(3)  Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement 11 is correct
Options :

878270151717.1

878270151718. 2

878270151719. 3

878270151720. 4

Question Number : 20 Question Id : 87827038611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:ﬂﬁﬂwﬁqw%:
O] T T HI Tiha ¢ o am or W o e H o fuR e o o

1 37 F B
O 11 ; G T 37 vl T e s e =k feen e 2t & e i At 76 @
T |

TG o S §, A9 o T fommed | o U S T I
(1) o1 S o 1 3 9

() 1SR FIR 11 e ¢

() F IR ¢, olfod RO 1T ¢

(4) UL ¢, Tl FUT Il €

Options:

878270151717.1
878270151718. 2
878270151719. 3

878270151720. 4

Question Number : 21 Question Id : 87827038612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A car starts running with the initial speed of 50 km/hour, with its speed increasing every hour by

5 km per hour. How many hours will it take to cover a distance of 630 km ?

(1) 7 hours

(2) 9 hours

(3) 6 hours

(4) 8 hours
Options:
878270151721. 1
878270151722. 2
878270151723.3

878270151724. 4



Question Number : 21 Question Id : 87827038612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T &R 50 foesie o sfors i @ SR e e 6 g R 5 e e U e 71 630 el
H g A 2 e s )
(1) 7%
) 9%
3) 6%
4) §¥
Options :
878270151721. 1
878270151722. 2
878270151723. 3

878270151724. 4

Question Number : 22 Question Id : 87827038613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a factory, the average salary of the employees is ¥ 7000. If the average salary of 12 officers is
< 40000 and that of the remaining employees is ¥ 6000, then the number of employees is :

(1) 402

(2) 404

(3) 406
(

4) 408

]

)
)
)

Options:

878270151725. 1
878270151726. 2
878270151727.3

878270151728. 4



Question Number : 22 Question Id : 87827038613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ot Wt o A 0 ol 9 27000 §1 A 12 fonfel @ e oM % 40000 S S
T 1 S0 A 2 6000 2, T FHA o G e
(1) 402
(2) 404
(3) 406
(4) 408
Options :
878270151725. 1
878270151726. 2
878270151727.3

878270151728. 4

Question Number : 23 Question Id : 87827038614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The sum of three numbers is 124. If the ratio between the first and the second is 2: 3 and between
the second and the third is 7 : 9, then the third number is :

(1) 48

(2) 54
(3) 64
(4)

]

4) 66

Options:

878270151729. 1
878270151730. 2
878270151731. 3
878270151732. 4



Question Number : 23 Question Id : 87827038614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

A1 Teel 301 124 %1 4 Vel 4R gt T o o SR 2:3 € A4 T SR e it e
7:9% 9 dd Hem @
1) 48
(2) 54
(3) 64
(4) 66
Options :
878270151729. 1
878270151730. 2
878270151731.3

878270151732. 4

Question Number : 24 Question Id : 87827038615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What will be the value of P in the fﬂllmviﬂg number series ?
2. 38 5. B s

(1) 3120
7. S 74
(3) 2045
(4) 630
Options:

878270151733. 1
878270151734. 2
878270151735. 3

878270151736. 4



Question Number : 24 Question Id : 87827038615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafea s s@en § P =1 7 foFawn gm 2

(), 2, 28 Fad, By o

(1) 3120
(2) 1029
(3) 2045
(4) 630
Options :

878270151733. 1
878270151734. 2
878270151735. 3
878270151736. 4

Question Number : 25 Question Id : 87827038616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The cost price of an article is 75% of its marked price for sale. How much percent does the trades-
man gam after a]lowing a discount of 15% ?
(1) 20%

1
13-%
) B

(3) 10%

Options:
878270151737. 1
878270151738. 2

878270151739. 3



878270151740. 4

Question Number : 25 Question Id : 87827038616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
forel o 91 TR e 3 forh o fer T 1 75% 1 15% F 92 ¢ F v AR A R
e 2 T 2
(1) 20%
1

) 13=%
o 1
(3) 10%

2
15=%

@ b3
Options :

878270151737. 1
878270151738. 2
878270151739. 3

878270151740. 4

Question Number : 26 Question Id : 87827038617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are so related that they cannot both be true, nor can they both

be false ?

(A) All mammals are vertebrates.

(B) Some mammals are vertebrates,
(C) Some mammals are not vertebrates.
(D) No mammals are vertebrates.

Choose the correct answer from the options given below :
() (A)and (B) Only

(2) (B) and (D) Only

(3) (C) and (D) Only
(4) (A) and (D) Only
Options:
878270151741. 1
878270151742. 2
878270151743.3

878270151744. 4

Question Number : 26 Question Id : 87827038617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

feeeferfin o § 9 9 97 39 Te W TG & 6 o O 9 T @ o € AR T S B WA €
(A) T TR Fe €

(C) T8 T FH T ¢

(D) 13 Sf Tt ] T |

7 feu T foered % 9 W SR T i
A (A) 4 (B)

Options :



878270151741. 1
878270151742. 2
878270151743. 3

878270151744. 4

Question Number : 27 Question Id : 87827038618 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is logically equivalent to the statement - “All rectangles are
polygon” ?

(I) Some rectangles are polygon.

(2
(
(4

No reclzmgles are nonapalvgnn.

s |

; No non-rectangles are non-polygon.
) All non-polygons are rectangles.
Options :

878270151745. 1

878270151746. 2

878270151747. 3

878270151748. 4

Question Number : 27 Question Id : 87827038618 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

frfefan # 8 #F 7 F97 Tk T F 30 F97 % q0ged ¢ - 9 A T ¢ ?

(1) T 3790 g4 &

() ot S TR-a e T B
(3) I ot o TR-agye I ¢
(4) Tl -G ST ¢ |

Options :



878270151745. 1
878270151746. 2
878270151747.3

878270151748. 4

Question Number : 28 Question Id : 87827038619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following terms in order of increasing intension :
(A) Cheese

(B) Dairy product

(C) Soft Cheese

(D) Strong soft cheese

Choose the correct answer from the options given below :

(1) (B), (A), (©), (D)

(2) (B), (D), Q) (A)
(@) (D) (), B), (A)
4) (D) (O (A) (B)

Options :

878270151749. 1
878270151750. 2
878270151751.3

878270151752. 4

Question Number : 28 Question Id : 87827038619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



ffefiaa gl =l Toned % TRl A H Hared Hifg
(A) TR

(B) g™ SIS

(©) ¥g TR

(D) it §g TR

= feu v fasredi § 9 9 39T & =9IH HifeU

(1) (B), (A), (©), (D)

(2) (B), (D), (O), (&)
(3) (D) (©), (B), (A)
4) (D) (©), (A) (B)
Options:

878270151749. 1
878270151750. 2
878270151751. 3

878270151752. 4

Question Number : 29 Question Id : 87827038620 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Political stabﬂit}r s indispensable to economic progress because economic progress can 011l_v be
achieved by means of political stability” Which informal fallacy is committed in the above
statement ?

(I) Slippery Slope

(2) Red Herring

(3) Hasty Generalisation
(4) Begging the question
Options :
878270151753. 1
878270151754. 2
878270151755. 3

878270151756. 4



Question Number : 29 Question Id : 87827038620 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

" e e enfeler e ¥ e arfterd & it snfo wfe St Trovifo o 3 et 2 €1
% 9 Gl ¢ 1" S0 F B T SR T ¢

(1) TR Bem

(2) Ve Heokd (T2 &)
(3) ot qER
(4) ST g
Options :
878270151753. 1
878270151754. 2
878270151755. 3

878270151756. 4

Question Number : 30 Question Id : 87827038621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  The proposition “The hill has fire because it is knowable” commits the fallacy of
the irregular middle,

Statement I :  The proposition “Sound is eternal, because it is audible” commits the fallacy of
the irregular middle.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement Il is incorrect

(4) Statement I is incorrect but Statement II is correct

Options:



878270151757. 1
878270151758. 2
878270151759. 3

878270151760. 4

Question Number : 30 Question Id : 87827038621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬁﬁwmﬂﬁﬁz

FUA1: 79 yfoara e W e € FifE T ga e e ver 1 R B
HOT ;35 Yfosfta ' 3 wver , TF 7 45 ' H afafid wed o e g
IR FUA F S 8, e fou 0 fored § ¥ e SURgE I H T H ;
(1) S 3R w1 I T &

() WA 1 3R H 1 T e €

(3) U LTI &, ek oM 117 @

(4) Y 1TEM &, Tl e 11 7 ¢

Options :

878270151757. 1

878270151758. 2

878270151759. 3

878270151760. 4

Question Number : 31 Question Id : 87827038622 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I :  Google is a web search engine, while google chrome is a web browser.
Statement I1:  Microsoft Edge is a web search engine, while Microsoft Bing is a web browser.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270151761. 1

878270151762. 2

878270151763. 3

878270151764. 4

Question Number : 31 Question Id : 87827038622 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T FARUME

FATL: 70 TF o G 35 ¢ STl T M o6 A1 ¢ |

HUT I TEFHIGR U UF 96 9 39 ¢ ek HIsshaie fam U od e § |
IR oM F el ¥, e U U foedl § 9 Wad IUga I T I ;
(1) o1 3 R 1S T2 2
(2) YT 13 AR 11 S T §
(3) YT TR &, Wifehd e 11 7Terd ¢
(4) U T &, TR HOR LT &
Options :

878270151761. 1

878270151762. 2

878270151763. 3



878270151764. 4

Question Number : 32 Question Id : 87827038623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the fnllnwing memory hieral'ch}; diagl'am:

Cache
Memory

f s 3
/ Solid State Storage \

11

/ Optical Disk Storage \
/ . \

Which of the following memories A-D represent [, II, [Il and IV (in that order) ?

Increase in Cost per bit
Increase in Access Time

(A) Magnetic Tape

(B) Magnetic Hard Disk

(C) Random Access Memory

(D) Processor Registers

Choose the correct answer from the options given below :
(1) D) (C), (A) (B)

() (4), () (©) D)
() (B) () (D), (A)
@) @) (©), ({B) (4)
Options :
878270151765. 1

878270151766. 2



878270151767. 3

878270151768. 4

Question Number : 32 Question Id : 87827038623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freferfiea #ar | sme R/ fo=r #ifs ;

yfa fae =rma ° afg
S
&
7
il
st wa § gfg

T

Ly

/ v \
frfafiad o | 9 9 560 A-D (35 FH ) 11, 11 SRV i 97 & 7
(A) Fraw 2

T we feeh
(C) =W UaEd HAN
(D) 9rHER Tseed
A9 fou o foepedi H 9 W@ SR F1 T9H FIf9C

(1) (D) (©), (A) (B)
) (A), (B), (C), (D)
) (B), (O (D), (4)
) (D) (©) (B), (A)

(2
(3
(4

Options :



878270151765. 1
878270151766. 2
878270151767. 3

878270151768. 4

Question Number : 33 Question Id : 87827038624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - 1I
(ICT Term) (Definition)
(A) Firewall (I)  Used torememberuser’s preferences each time they visit websites

(B) Digital certificate  (I) Hardware or software that sits between a user's computer and
an external network, which filters data coming to and from the

computer

(C) Cookies (IIT) Software, firmware or hardware that creates and runs a virtual
machine

(D) Hypervisor (IV) Pairs of files stored on user’s computer; each pair contains a

pub]ic l(E}’ and private key
Choose the correct answer from the options given below :

(1) (AM, B)-(), (CHIV), (DHI)

(@ (AH), (BHIV), (C)(I), (DA
(3) (AL, B)-V), (©)-(), (D)
(@) (AHII), BHLV), (©-{1), DK)
Options :

878270151769. 1
878270151770. 2
878270151771.3

878270151772. 4

Question Number : 33 Question Id : 87827038624 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 o 91 G-I 1 e it

T I
(am & w) (e

(A) wETa () R a9 W T F e P A% T % fou |

() fefwed WM () IR A WIS S YA % F S AR Tea & we feem
I € S 92§ -9 9t 2R A et 0 ¢

€ F#H (L1 oI, ol 21 BIE i STt 79T 157 0 & A Seffera
G201

(D) R (IV) IR % FE W AT Tel & g, T g Wt
%o o Pt of 2 &1

1 feu U ol W § W& S 1 7 T

(L) (AH, B)-), (CHLV), (DHII)

@ (A-D, BHIV), C)(L), (DHII)

() (A)I), B)-[V), (C-(1) (D))

(4)  (AM), BHIV), (©-{1), D}

Options :

878270151769. 1
878270151770. 2
878270151771.3

878270151772. 4

Question Number : 34 Question Id : 87827038625 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider the following Ms-Excel work sheet :

A B C
1 | Month |Number of classes taught | Payments (in ¥ ) made @ 1500 per class
2 | January 20 30000
3 | February 14 21000
4 | March 17 25500
5 | April 13 19500
6 May 12 18000
7 | June 15 22500

The value returned by the function

=SUMIFS (C2 : C7, B2 : B7, “>13", C2.: C7, “>22500") is :
) 78000
) 76500
) 99000
)

55500

Options:

878270151773. 1
878270151774. 2
878270151775. 3

878270151776. 4

Question Number : 34 Question Id : 87827038625 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frfafaa Ms-Excel 95 ¥ie W foam #ifew :

A B C
i - ST T RN | Uedeh hell & 1500 FUY & femma
! weaT ® feram e ypram (T H)
2 | weh 20 30000
3 ETCH 14 21000
1 e 17 25500
5 T 13 19500
6 7 12 18000
7 E4 15 22500
et
=SUMIFS (C2: C7, B2 : B7, “>13", C2 : C7, “>22500") SR U1 AM ¢ :
(1) 78000
(2) 76500
(3) 99000
(4) 55500
Options:

878270151773. 1
878270151774. 2
878270151775. 3
878270151776. 4

Question Number : 35 Question Id : 87827038626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements with refers to the different number systems :
Statement [ : (0.68?5)10 — (I].'lﬁll)2
Statement 11 (111011.1[]1)2 = (58.(325)10

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270151777. 1

878270151778. 2

878270151779. 3

878270151780. 4

Question Number : 35 Question Id : 87827038626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fafir dem yonferdi o e ® & Fom faw g
FEL: (0.6875), = (0.1011),
FITM:  (111011.101), = (38.625),
IR oM F el ¥, e U U foedl § 9 Wad IUga I T I ;
(1) o1 3 R 1S T2 2
(2) YT 13 AR 11 S T §
(3) FETIE &, ol HYT 1 Tewd @
(4) U T &, TR HOR LT &
Options :
878270151777. 1
878270151778. 2

878270151779. 3



878270151780. 4

Question Number : 36 Question Id : 87827038627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Photovoltaic cells produce Alternating current (a.c.).

Statement II:  Photovoltaic cells are exposed directly to the sun, therefore as temperature rises
leakage accross the cell increases.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement | is incorrect but Statement 1l is correct

(
(3)  Statement I is correct but Statement II is incorrect
(

Options :

878270151781. 1

878270151782. 2

878270151783. 3

878270151784. 4

Question Number : 36 Question Id : 87827038627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fﬁﬁﬂ@ﬂﬁ'@ﬂ%‘:

T TR T Ve T (TA,) 3 g

TR :  HRETT S W v () B senfd 2 €, o 5 avm A o 2 T i E
R-R fra) o o £

T 9 & AR H, T 30 T forpedl o U S T I

(1) HOR S FR T T4 €

(2) YR 1 30 e 11 EFf e

(3) ORI ¢, oo R 117Tew ¢

(4) IR 1T ¢, T ehem 11 81 ¢

Options:

878270151781. 1

878270151782. 2

878270151783. 3

878270151784. 4

Question Number : 37 Question Id : 87827038628 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the follnwmg pairs of elements 1s most important for eutrophjcatinn process ?
(1) Calcium-magnesium

(2) Nitrogen-phosphorus

(3) Nickel-cobalt

(4) [rnnucnpper

Options :

878270151785. 1

878270151786. 2

878270151787. 3

878270151788. 4

Question Number : 37 Question Id : 87827038628 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

frferfigd H § 19 del 1 3 quied (Feiwy) Tkl o fou gaifes wemg & 7
(1)  Hfcamm-Hfefmm

Options :

878270151785. 1
878270151786. 2
878270151787.3

878270151788. 4

Question Number : 38 Question Id : 87827038629 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The standard coagulant in water reatment is ?
(1) Hypochloride
(2) Chlorine

(3) Aluminium
(4) Alum
Options:

878270151789. 1
878270151790. 2
878270151791. 3

878270151792. 4

Question Number : 38 Question Id : 87827038629 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el ieA W W% THeF ¢

Options :

878270151789. 1
878270151790. 2
878270151791. 3

878270151792. 4

Question Number : 39 Question Id : 87827038630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : PM, is preferred over Total Suspended Particles (TSP) for air quality monitoring
studies.

Reason (R):  Particles larger than 10 micron are better indicator of potential health effects of
particulate air pollution.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270151793. 1

878270151794. 2



878270151795. 3

878270151796. 4

Question Number : 39 Question Id : 87827038630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

(
(
(
(

878270151793. 1
878270151794. 2
878270151795. 3

878270151796. 4

Question Number : 40 Question Id : 87827038631 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  The Richter Scale measures not only the intensity of earthquake itself, but its
impact on people too.

Statement Il ;  The modified Mercalli scale measures the Earthquake in terms of energy released.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270151797. 1

878270151798. 2

878270151799. 3

878270151800. 4

Question Number : 40 Question Id : 87827038631 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151797. 1

878270151798. 2



878270151799. 3
878270151800. 4

Question Number : 41 Question Id : 87827038632 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following Open universities was established in accordance with the National Education
policy, 1986 :

(I) Dr. BR Ambedkar Open University, Heyderabad

(2) Indira Gandhi National Open University, Delhi

(3) Karnataka State Open University, Mysore

(4)  Yashwant Rao Chavan Maharashtra open University, Nasik
Options :

878270151801. 1

878270151802. 2

878270151803. 3

878270151804. 4

Question Number : 41 Question Id : 87827038632 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

friferfad W | @i 99 fovafarey TR e i, 1986 % STER wif faan @ a7

(1) Ealam, seres fovafmmem, s

(2) 3w el i e fevafeeren, feeeh

(3) e T5d W favaifareer, W

(4) TIEd Te TR HEE oK foafererd, TEeH

Options :
878270151801. 1

878270151802. 2



878270151803. 3

878270151804. 4

Question Number : 42 Question Id : 87827038633 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following universities in ancient India had six colleges each under them and had a lot
of exchange of ideas between them ?

(A) Sridhanya katak

(B) Nalanda

(C) Takshashila

(D) Vikramashila

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (B) and (D) Only
(3) (C) and (D) Only
(4) (A) and (D) Only
Options :

878270151805. 1
878270151806. 2
878270151807. 3

878270151808. 4

Question Number : 42 Question Id : 87827038633 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151805. 1
878270151806. 2
878270151807. 3

878270151808. 4

Question Number : 43 Question Id : 87827038634 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find out the correct chronological order of the establishment of following universities in India :
(A) Agra University
(B) Delhi University
(C) Nagpur University
(

(

e

D) Andhra University

E) University of Calcutta
Choose the correct answer from the options given below :
(M) @) (©) (A), E) )
@ () (®) (), D), (A)
@) (€, (D), (A), (E) (B)
() (A),(E), (), D) €
Options:
878270151809. 1
878270151810. 2
878270151811. 3

878270151812. 4

Question Number : 43 Question Id : 87827038634 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
R o fAfaiga fayafoeredl i 3T T & HIesraTaR W :
(A) R faveEfeEmer™
(B) fecedt favafaamc
(C) AR fergafer=me
(D) 3 fevafeamTy
(E) et favafaare
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(1) (B), (©) (A), (E), (D)
2 (B (B) (C) (D), (A)
(3)  (©), (D) (A), (E), (B)
@) (A) (B, B), D) ©



Options :

878270151809. 1
878270151810. 2
878270151811. 3
878270151812. 4

Question Number : 44 Question Id : 87827038635 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - [ with List - I1.

List - I List - II
(Commission/Committee) (Focus area)
(A) Sadler Commission (I)  Functioning of UGC and AICTE
(B) Hartog Committee (I}  University education in India
(C) Radhakrishnan Commission ~ (Ill) Comprehensive report on education in India
(D) Yashpal Committee (IV) Functioning of Calcutta university

Choose the correct answer from the options giuen below :

(1) (AHID, B, C)-(1), (D}-IV)

(2) (A, (B)IV), (CH(H), (D)-(1)
(3)  (AMI), (B)-(I), (CH1V), (D)(IL)
(4)  (AHIV), (BHI), (CHI), (D))
Options :

878270151813. 1
878270151814. 2
878270151815. 3
878270151816. 4

Question Number : 44 Question Id : 87827038635 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |19 Gelt-11 =1 fiei IS
-1 T-11

( T afafa) (WIHH &)
(A) HER &M () 3 G SR T R Gl 3 S o
(B) @2 Hfufd (1) vRa ¥ favafaeme faen
(C) THFOH HEM (II1) I o v 9¥ =2mge e
(D) =TTl Wiwfd (IV) el favafaered &1 wraeEt
At foau U fospedi H § W& I FH TAH HIWC ;
(1) (A1), (B)-(II), (O)-0), (D)-(IV)
(2) (A, (B)AIV), (C)-(I), (D)-(I)
3) (A1), (B}-(I), (O)-(IV), (D))
(4)  (A)HIV), (B)-(II), (C)-(1T), (D)-(T)

Options :

878270151813. 1
878270151814. 2
878270151815. 3

878270151816. 4

Question Number : 45 Question Id : 87827038636 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  Financing higher education in a country like India depends upon availability of
resources and other financial implications.

Statement II:  According to NEP 2020, funding and financing of higher education will be carried
out by the second vertical of Higher Education Commission of India i.e, Higher
Education Grants Council.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement II is incorrect
(

Options:

878270151817. 1

878270151818. 2

878270151819. 3

878270151820. 4

Question Number : 45 Question Id : 87827038636 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151817. 1
878270151818. 2
878270151819. 3
878270151820. 4

Sub-Section Number : 3
Sub-Section Id : 8782701625
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827038637 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Tiger reserves are an important part of our tourism industry. There are 42 declared tiger reserves
in India which are generally operated by state forest departments. Indian tiger, also known as
Bengal tiger is the national animal of India. Its scientific name is Panfliera tigris tigris. Tigers are
maintained in reserves for their scientific, economic, aesthetic, cultural and ecological values and
they are kept as national heritage for the education and enjoyment of the people.

But in recent years tiger tourism has become a troublesome issue due to the rapid growth of killing
of tigers due to illegal poaching. This ia a wakeup call not only for the department of tourism but
also for the various wildlife organisations and other governing bodies. Since the governments have
failed to implement adequate enforcement response and investigations, wildlife crimes have increased
by years. Today there are some activists and environmentalists who are demanding a complete
ban on public access to wildlife reserves. But such a complete ban would be a setback.

There is no question that commercial tourism must be strictly regulated, however a complete ban
would be an extremely harmful step, as it will negatively impact conservation education, monitoring
and other conservation activities.

Sub questions

Question Number : 46 Question Id : 87827038638 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Tiger tourism has become a problem in recent years because :
(1) There are too many tigers

(2) Tigers kill people

(3) Tourists disturb tigers

(4) There is illegal poaching of tigers
Options :

878270151821. 1
878270151822. 2
878270151823. 3

878270151824. 4

Question Number : 47 Question Id : 87827038639 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Solution to the problem of wild life crimes can be found by :
(1) Banning public access to wildlife reserves

(2) Banning tiger tourism

(3) Regulating commercial tourism

(4) Curtailment of wild life population

Options :

878270151825. 1

878270151826. 2

878270151827. 3

878270151828. 4

Question Number : 48 Question Id : 87827038640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



A pmtected area for animals, plaﬂls etc. is called :

(1) A Reserve
(2) A Forest

(3) Countryside
(4) Cantonment

Options:

878270151829. 1
878270151830. 2
878270151831. 3

878270151832. 4

Question Number : 49 Question Id : 87827038641 Question Type : MCQ Option Shuffling

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tigers are kept in reserves for the fDllDw'mg reasons :

(A) Ecological value
(B) Cultural value
(C) Agricultural value
(D) Aesthetic value
(E) Medicinal value

Choose the correct answer from the options giv en below :

(1) (A), (B) and (D) Only

(2) (B), (C) and (D) Only
(3) (), (D) and (E) Only
(4) (A), (D) and (E) Only

Options :

878270151833. 1
878270151834. 2
878270151835. 3

878270151836. 4

:No

Question Number : 50 Question Id : 87827038642 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ ; Banning commercial tourism will positivel}r impact conservation activities,
Statement I1:  Panthera I:'gr:'s n'gris is the national animal of India.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4)  Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options :

878270151837. 1

878270151838. 2

878270151839. 3

878270151840. 4

Question Id : 87827038637 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827038638 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e1e1 o 91 H 23T yded Uk W91 &9 71 § it
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Options :

878270151821. 1
878270151822. 2
878270151823. 3

878270151824. 4

Question Number : 47 Question Id : 87827038639 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SSia HeHl ST S G 1 FHIHH e g 9T foRa S wehd @ 7
(1) F=sita fod 7 Qe wed | gfiey e

(2) R YA W GfTEH TR

(3) anforfres Wi =1 fafvafia

(4) T TR H T

Options:

878270151825. 1

878270151826. 2

878270151827. 3

878270151828. 4

Question Number : 48 Question Id : 87827038640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

yypadi, Tt anfe & forg wefar & 1 @ e S €

(1) FR=E
(2) =4
(3) <EM
(4) BrEAl
Options:

878270151829. 1
878270151830. 2
878270151831. 3

878270151832. 4

Question Number : 49 Question Id : 87827038641 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
2RI 1 Frefafas sl § o § v am e
(A) WRFrfarE 9o
(B) HIEHTF HeH

(C) =Y e
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(4) 9 (A), (D) 3R (E)

Options :

878270151833. 1

878270151834. 2

878270151835. 3

878270151836. 4

Question Number : 50 Question Id : 87827038642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270151837. 1
878270151838. 2
878270151839. 3

878270151840. 4
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Section Id :
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Number of Questions :

Number of Questions to be attempted :
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Question Number : 51 Question Id : 87827038643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the follnwing is not a langible source of a state’s power patential?
(1) Industrial Development

(2)  Characteristics of Military
(3) National Image
(4) Level of Intrastructure

Options :

878270151841. 1
878270151842. 2
878270151843. 3

878270151844. 4

Question Number : 51 Question Id : 87827038643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270151841. 1
878270151842. 2
878270151843. 3

878270151844. 4



Question Number : 52 Question Id : 87827038644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Who is the author of the book “The Rise and Fall of the Great Powers” ?
(1) Joseph Nye

(2) Kenneth Waltz
(3) Hans Morgenthou
(4) Paul Kennedy

Options :

878270151845. 1
878270151846. 2
878270151847.3

878270151848. 4

Question Number : 52 Question Id : 87827038644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151845. 1
878270151846. 2
878270151847.3

878270151848. 4

Question Number : 53 Question Id : 87827038645 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘Operation Barbarossa’ during the 2" World War was :

(1) Japan's invasion of Pearl Harbour

(2) German invasion of USSR

(3) Italy’s invasion of Ethiopia

(4) America’s attack on Japan

Options :

878270151849. 1
878270151850. 2
878270151851. 3

878270151852. 4

Question Number : 53 Question Id : 87827038645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options:

878270151849. 1
878270151850. 2
878270151851. 3

878270151852. 4

Question Number : 54 Question Id : 87827038646 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

f'iccurdjng to liberals, which of the fDllnwing is not a cause of war ?

(1) Lack of democratic institutions/values
(2) Lack of interdependence

(3) Lack of shared institutions

(4) Power transition

Options :

878270151853. 1
878270151854. 2
878270151855. 3

878270151856. 4

Question Number : 54 Question Id : 87827038646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270151853. 1
878270151854. 2
878270151855. 3

878270151856. 4

Question Number : 55 Question Id : 87827038647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

‘Great African War’ or ‘' African World War’ phrases are used to indicate :

(1)  Civil War in Democratic Republic of Congo
(2) Civil War in Somalia

(3) Civil War in Sudan

(4) Civil War in Nigeria

Options :

878270151857. 1
878270151858. 2
878270151859. 3

878270151860. 4

Question Number : 55 Question Id : 87827038647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘“Ue TR TR’ e ' ST doe ar ST o1 YA @ 2T o © 7

(1) R AreRdifieh TORE | T894
(2) HmIeE § Tegs

() HeHH RIS

(4) ESRE H oS

Options :

878270151857. 1
878270151858. 2
878270151859. 3

878270151860. 4

Question Number : 56 Question Id : 87827038648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘Operation Trident’ was :

(1) Indian Navy's attack on Karachi Port, 1971

(2) Evacuation of Indians from Yemen

(3) Indian Army’s attack on Pakistan, 1965

(4) Indian Army’s counter-offensive during Kargil War, 1999
Options:

878270151861. 1

878270151862. 2

878270151863. 3

878270151864. 4

Question Number : 56 Question Id : 87827038648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Yo Zee=" o

(1) = F<0me R a9 1971 H 9RA" A9 1 TR0
(2) I9A Y 9RrEl Bl =TeY TR R

(3) 99 1965 H WRA™ H1 Tl YIfREa X SABHAY

(4) FRATA g, 1999 F A TG HAT 1 Gid ST

Options :

878270151861. 1
878270151862. 2
878270151863. 3
878270151864. 4

Question Number : 57 Question Id : 87827038649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The motto of ‘National Security Guard’ is :
(1) Vasudhaiva Kutumbakam

(2) Lado, Aage Badho

(3) Sarvatra Sarvottam Suraksha

(4) Sarvatra Sarvashreshtha Suraksha

=

Options:

878270151865. 1
878270151866. 2
878270151867. 3

878270151868. 4

Question Number : 57 Question Id : 87827038649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T G ME (T T S HT RN (e 9eH) ©
() =9Ha Fgrasy

(2) =, e

(3) Hel3 HefaH g

(4) HelH G IS G
Options :

878270151865. 1
878270151866. 2
878270151867. 3
878270151868. 4

Question Number : 58 Question Id : 87827038650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



National Disaster Response Force (NDRF) was constituted in :
(1) 2001

(2) 2004
(3) 2006
(4) 2008
Options:

8782701518609. 1
878270151870. 2
878270151871. 3

878270151872. 4

Question Number : 58 Question Id : 87827038650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 39e1 Hied o (T €1 3R TF) &1 TS 59 a9 foan 7 on?

(1) 2001
(2) 2004
(3) 2006
(4) 2008

Options :

8782701518609. 1
878270151870. 2
878270151871. 3

878270151872. 4

Question Number : 59 Question Id : 87827038651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is not a member of ‘Five Eyes intelligence sharing arrangement ?

(1) USA
(2) France
(3) UK

(4) Canada
Options:

878270151873. 1
878270151874. 2
878270151875. 3

878270151876. 4

Question Number : 59 Question Id : 87827038651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freferfigd o § = " wEd s S e GHEd H §ee TE ¢ 7

(1) 4WY
(2) WE
®) 3%
(4) TSI
Options :

878270151873. 1
878270151874. 2
878270151875. 3

878270151876. 4

Question Number : 60 Question Id : 87827038652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



First Secretar}? - General of the UN was :
(1) Kurt Waldheim

(2) Dag Hammarskjold

(3) U Thant

(4) Trj.;gve Lie

Options:

878270151877. 1

878270151878. 2

878270151879. 3

878270151880. 4

Question Number : 60 Question Id : 87827038652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g A (HFH UL TE) F 999 Herfad He 4 ?

(1) o areeem

(2) ST EHcS

(3) Fg=

(4) e
Options :

878270151877. 1
878270151878. 2
878270151879. 3
878270151880. 4

Question Number : 61 Question Id : 87827038653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



First artificial satellite was launched in Space b}? 3
(1) Soviet Union

(2) United States of America

(3) France

(4) UK

Options:

878270151881. 1

878270151882. 2

878270151883. 3

878270151884. 4

Question Number : 61 Question Id : 87827038653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S T oW HiH WIS = q&9v g e F R o1 ?

(1) wiferrd 9

(2) HIH T SHRH
(3) WE

4) T
Options :

878270151881. 1
878270151882. 2
878270151883. 3

878270151884. 4

Question Number : 62 Question Id : 87827038654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"The Hague Conventions” of 1899 and 1907 established :
(I) The Laws to govern outer space

(2) The Laws and customs of war
(3) The Laws to govern high seas
(4) Independent tribunal to investigate human rights violations in Balochistan

Options:

878270151885. 1
878270151886. 2
878270151887. 3

878270151888. 4

Question Number : 62 Question Id : 87827038654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

&1 SfETg 1899 TS 1907 i W91 fFE WasH & fore &1 T o ?
(1) =g 3faft 1 wiEd T &g wEA (Fram)

2) g gat fm e gt

(3) S WX I 90T FH &g I

(4) FGfear § AFAYRR STl &l Sig e Wad =R

Options :

878270151885. 1
878270151886. 2
878270151887. 3
878270151888. 4

Question Number : 63 Question Id : 87827038655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Human Rights Day is observed every year on:
(1) 1 January
(2) 31 December
(3) 10 December
(4) 10 January
Options:
878270151889. 1
878270151890. 2
878270151891. 3

878270151892. 4

Question Number : 63 Question Id : 87827038655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

yedes a9 AHenfeeRR feaw fag fafy = v s g 2

(1) 1 S9ad
(2) 31 feHa
(3) 10 feHa
(4) 10 SHa
Options :

878270151889. 1
878270151890. 2
878270151891. 3
878270151892. 4

Question Number : 64 Question Id : 87827038656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



”Shrinking of Aral Sea’ is a pmblem in:
(1) Central Asia

(2) Latin America

(3) West Asia

(4) Southeast Asia

Options:

878270151893. 1

878270151894, 2

878270151895. 3

878270151896. 4

Question Number : 64 Question Id : 87827038656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

'3 IR 1 fage’ R a9 1 U e B 7

(1) =+ T

(2) e STHLIEHR
(3) Ory=m T
(4) cfEu-ge ot
Options :

878270151893. 1
878270151894. 2
878270151895. 3

878270151896. 4

Question Number : 65 Question Id : 87827038657 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the fo]lnwing is part of ‘“Third Generation’ of Human Rights ?
(1) Health Care

(2) Environmental Protection
(3) Social Security

(4) Non-discrimination
Options:

878270151897. 1

878270151898. 2

878270151899. 3

878270151900. 4

Question Number : 65 Question Id : 87827038657 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafaa o 9 #m amafasr #1 gdg dier 1 9 22

(1) T&Eres Eyvd

(2) e Har

(3) ISR AT

(4) TR-HgYE
Options :

878270151897. 1
878270151898. 2
878270151899. 3
878270151900. 4

Question Number : 66 Question Id : 87827038658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The classic definiion of the state in international law is found in the :
(I) Geneva Convention
(2) Human Rights Declaration

(3) Montevideo Convention
(4) Kyoto Protocol

Options:

878270151901. 1

878270151902. 2

878270151903. 3

878270151904. 4

Question Number : 66 Question Id : 87827038658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

forg st fafy o T 1 e afre = Seorg et § -

(1) S SAfEa
(2) HHETYERRT =1 STETO
(3) wizsiteA SAfvETe
(4) FR URERA
Options :

878270151901. 1
878270151902. 2
878270151903. 3

878270151904. 4

Question Number : 67 Question Id : 87827038659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Headquarters Integrated Defence Staff (HQIDS) was raised in :

(1) 1999
(2) 2005
(3) 2002
(4) 2001
Options:

878270151905. 1
878270151906. 2
878270151907. 3

878270151908. 4

Question Number : 67 Question Id : 87827038659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

sfoiee feth wiw qerem (w8 71 aE 9 W) 1 fe o fan a2

(1) 1999
(2) 2005
(3) 2002
(4) 2001

Options :

878270151905. 1
878270151906. 2
878270151907. 3
878270151908. 4

Question Number : 68 Question Id : 87827038660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘Parakram Diwas’ is celebrated on :
(1) 14 Augusl

(2) 31 January

(3) 23 January

(4) 6 December

Options:

8782701519009. 1

878270151910. 2

878270151911. 3

878270151912. 4

Question Number : 68 Question Id : 87827038660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

WIeEH feam sk WA SIAT € 2

(1) 14 374
(2) 31 SR
(3) 23 S
(4) 6 femr

Options :

8782701519009. 1
878270151910. 2
878270151911. 3

878270151912. 4

Question Number : 69 Question Id : 87827038661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which country has been inducted as a member in North Atlantic Treaty Organisation (NATO) in
2023 ;

(1) Poland
2

(
k
(

) Norway
) Sweden
)

4)  Finland

Options:

878270151913. 1
878270151914. 2
878270151915. 3

878270151916. 4

Question Number : 69 Question Id : 87827038661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

il 2023 H forg @91 1 S sreetiies 9 g (19 W gem % w9 ¥ wiwfa fa w7

(1) e
)
(3) e
(4) frwle
Options :

878270151913. 1
878270151914. 2
878270151915. 3

878270151916. 4

Question Number : 70 Question Id : 87827038662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who said “War is the continuation of politics by other means” ?
(I) Kautilya

(2) Mahatma Gandhi

(3) Karl Von Clausewitz

(4) Lenin

Options:

878270151917. 1
878270151918. 2
878270151919. 3

878270151920. 4

Question Number : 70 Question Id : 87827038662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ffefiad sod ffge 87 95 o Weml & weEd | e o R gl

(1) e

(2) v e

(3) I T TS
(4)

Options :

878270151917. 1
878270151918. 2
878270151919. 3

878270151920. 4

Question Number : 71 Question Id : 87827038663 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘Billiard Ball Model’ is associated with :

(1) Liberal Theory

2)

(3) Constructivism
)

(4) Realist Theory

Marxist Theory

Options:

878270151921. 1
878270151922. 2
878270151923. 3
878270151924. 4

Question Number : 71 Question Id : 87827038663 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“fafaee aid Ated (dfaey) " frad Heifug €72

(1) 3crErel Mg

(2) WERETSr fagid

(3) HETER

(4) Fenedare fagia
Options :

878270151921. 1
878270151922. 2
878270151923. 3

878270151924. 4

Question Number : 72 Question Id : 87827038664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is known as an ‘Early Air Strategist’, one of the first to develop a coherent
doctrine of ‘Strategic Airpower’ ?

(1) AT. Mahan

(2) Halford Mackinder

(3)  Henry Kissinger
(4)  General Douhet
Options:
878270151925. 1
878270151926. 2
878270151927. 3

878270151928. 4

Question Number : 72 Question Id : 87827038664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

R SR S T ot o e v 1 e, e e

feeferfin for T e & 7

(1) e
() e
(3) &R frfin
() A e
Options :
878270151925. 1
878270151926. 2
878270151927. 3
878270151928. 4

Question Number : 73 Question Id : 87827038665 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Who is the author of the book, 'Kautilya - The First Great Political Realist” ?
(1) 5. Jaishankar

(2) Roger Boesche
(3) Jaswant Singh
(4)  Sumit Ganguly

Options :

878270151929. 1
878270151930. 2
878270151931. 3

878270151932. 4

Question Number : 73 Question Id : 87827038665 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

'Fifeea-T T U Wfcifesda fafoe’ =M T&0® & oiEs & © 2
(1) WH, SR

2) U FATER
(3) e fHe
(4) gfwa e
Options :

878270151929. 1
878270151930. 2
878270151931. 3

878270151932. 4

Question Number : 74 Question Id : 87827038666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



How many members are in NATO as on 31 October, 2023 ?

(1) 22
(2) 25
(3) 30
4) 31

Options:

878270151933. 1
878270151934. 2
878270151935. 3

878270151936. 4

Question Number : 74 Question Id : 87827038666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el H Fel fohad 959 © (31 3aa 2023 TF) ?

(1 22
(2) 25
(3) 30
(4) 31

Options :

878270151933. 1
878270151934. 2
878270151935. 3
878270151936. 4

Question Number : 75 Question Id : 87827038667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Indian National Committee for Space Research was set up in the year :

(1) 1947
(2) 1961
(3) 1962
(4) 1965
Options:

878270151937. 1
878270151938. 2
878270151939. 3
878270151940. 4

Question Number : 75 Question Id : 87827038667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YR T Siaie STFa4H |iafd 1 Teq fra a9 fofan & a1?

(1) 1947
(2) 1961
(3) 1962
(4) 1965
Options :

878270151937. 1
878270151938. 2
878270151939. 3
878270151940. 4

Question Number : 76 Question Id : 87827038668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘Manhattan Project’ is related to :
(1) Nuclear Weapons

(2) Cyber Security

(3) Climate Change
(4) Terrorism
Options:

878270151941. 1
878270151942. 2
878270151943. 3

878270151944. 4

Question Number : 76 Question Id : 87827038668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) 9T BforR

2) HTEE gre
(3) werarg uftad|
(4) SAdTRATG
Options :

878270151941. 1
878270151942. 2
878270151943. 3

878270151944. 4

Question Number : 77 Question Id : 87827038669 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Binlﬂgical Weapﬂns Convention entered into force in :

(1) 1975
(2) 1962
(3) 1972
(4) 1980
Options:

878270151945. 1
878270151946. 2
878270151947. 3

878270151948. 4

Question Number : 77 Question Id : 87827038669 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Sifaes sfrar stfyewy feg 99 9 gafda &3 ?
(1) 1975
(2) 1962
(3) 1972
(4) 1980
Options :

878270151945. 1
878270151946. 2
878270151947. 3
878270151948. 4

Question Number : 78 Question Id : 87827038670 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A War involving all aspects of society including large conscription, the gearing up of economy to
military ends and the aim of achieving unconditional surrender through mass destruction of enemy
targets (civilian and military) is called :

(1) Civil War

(2) Conventional War

(3) Limited War

(4) Total War
Options:
878270151949. 1
878270151950. 2
878270151951. 3

878270151952. 4

Question Number : 78 Question Id : 87827038670 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
e 1 7 v sk T o afeed i, 1 el o i & eforeen A agn < w6 v e
(TR T B ) o T o () o e 9 o 9 O o @6 2Bl Y o 6 3 fed e
%,%W%:

Options :

878270151949. 1
878270151950. 2
878270151951. 3

878270151952. 4

Question Number : 79 Question Id : 87827038671 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not an element defining “Conflict” ?
(1) Actors
(2) Action by the actors

(3) Actors pursue their respective goals

(4) Actors do not fight to achieve conflicting goals
Options :

878270151953. 1

878270151954, 2

878270151955. 3

878270151956. 4

Question Number : 79 Question Id : 87827038671 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 5 9 = ' gud ' 1 aRifra 3 9rel T 7 el 6 7

(1)

(2) il gRI HHar

(3) i 379 ot @&l 1 3TF e ©

(4) wFal WeR faliy @ed 1 o o e Y e Fd ©
Options :

878270151953. 1
878270151954. 2
878270151955. 3

878270151956. 4

Question Number : 80 Question Id : 87827038672 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following is not a security related document ?
(1) Obama Doctrine
(2) White Papers on National Security by China
3)  Organisation for Economic Cooperation and Development
(4) National Security Strategy of Russian Federation until 2020
Options :
878270151957. 1
878270151958. 2
878270151959. 3

878270151960. 4

Question Number : 80 Question Id : 87827038672 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfafea o 9 %9 gian § o gxaes 92 ¢ 7

(1) e fogia
(2) = U A "o wd 9

)
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Options :

878270151957. 1

878270151958. 2

878270151959. 3

878270151960. 4

Question Number : 81 Question Id : 87827038673 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



“Operation Red October” relates to :

(1) Ottoman empire military operation
(2) Espionage operation unveiled in 2012
(3) Chinese Tianenmen Operation

(4) India - Pakistan war related operation
Options:

878270151961. 1

878270151962. 2

878270151963. 3

878270151964. 4

Question Number : 81 Question Id : 87827038673 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
 siteer T R T A &2
(1) e 9asg 93 SA9aH

(2) 2012 % SRLHT A9 1 G
(3) = =R faeHA S

(4) YRA-TeREH g3 Hetad AfEH
Options :

878270151961. 1

878270151962. 2
878270151963. 3

878270151964. 4

Question Number : 82 Question Id : 87827038674 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Alfred Thayer Mahan was a naval officer of which country ?
(1) Spain

(2) USA

(3) France

(4) Russia

Options:

878270151965. 1

878270151966. 2

878270151967. 3

878270151968. 4

Question Number : 82 Question Id : 87827038674 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

UEHhE AR HeH 6y 29 & U A8 STfHer] e 4 2

(1) =4

2 FwWT

(3) WH

4 TW
Options :

878270151965. 1
878270151966. 2
878270151967. 3
878270151968. 4

Question Number : 83 Question Id : 87827038675 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following countries have not fought a war with each other ?
(1) Armenia - Azerbaijan

(2
(3
(4

) Russia - Georgia

)  Georgia - Armenia
) Turkey - Azerbaijan
Options:

8782701519609. 1
878270151970. 2
878270151971. 3

878270151972. 4

Question Number : 83 Question Id : 87827038675 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafad 4 @ fa 29 3 1 sl g5 7 o &7

(1) -7

(2) TG-S

(3) SIS SAHET

(4) TH-STTEEH
Options :

8782701519609. 1
878270151970. 2
878270151971. 3

878270151972. 4

Question Number : 84 Question Id : 87827038676 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The Theory of Liberalism is based on the assumption that :
(1) Countries function in a peaceful environment and endeavour for cooperation and peaceful

handling of disputes.

(2) Itbelongs to traditional approaches to security based on domination and power of countries.

(3)  The social construction is the balancing or middle path between positivist epistemology and
post - positivist ontology.

(4)  The world cannot be analysed by scientific means and is based on critical and objective
ontology.

Options:

878270151973. 1

878270151974. 2

878270151975. 3

878270151976. 4

Question Number : 84 Question Id : 87827038676 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 1 frgi 39 Yatmon R et &

(1) < wferqol ey o o e € el efeel <1 g T Wifqg S S % T 0 §

(2) T TE W W@ Vi MG G &g TR 9T § Ha g |
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2|
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Options :

878270151973. 1
878270151974. 2
878270151975. 3

878270151976. 4

Question Number : 85 Question Id : 87827038677 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A state which dominates and subordinates 11L>ighbnu1‘ing states without laking them over is :
Colonial power

)

2)  Garrison state
) Dominion state
)

Suzerain state

Options :

878270151977. 1
878270151978. 2
878270151979. 3

878270151980. 4

Question Number : 85 Question Id : 87827038677 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

1 T2 1 Vet T R S nf fo ot 39 R ST W e S R I T €, e e

(1) s
@ e

() SR T

(4) HR= (Fe) T
Options:

878270151977. 1
878270151978. 2
878270151979. 3

878270151980. 4

Question Number : 86 Question Id : 87827038678 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the context of cyber warfare, 'MAID" is referred to which one of the following :

(I) Maintenance of Artificial Intelligence Devices
(2) Mutually Assured Information Destruction
(3) Mutually Assured Intelligence Devices

(4) Mutually Anticipated Intelligence Destruction

Options :

878270151981. 1
878270151982. 2
878270151983. 3

878270151984. 4

Question Number : 86 Question Id : 87827038678 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
e 75 % geof # 'ww v s &' (MAID) Frafafas # & faed gefia 7
(1) Wi sfiw sufefirfymae seeied feamsds

2) T wEE TR feraE
(3) Tl Ty ey fearys

(4) TS TATEIeE geaiy fewE
Options :

878270151981. 1
878270151982. 2
878270151983. 3

878270151984. 4

Question Number : 87 Question Id : 87827038679 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

India launched ‘Operation Cactus’ in :
(1) Bangladesh

(2) Nepal

(3) Maldives

(4) Srilanka

Options :

878270151985. 1

878270151986. 2

878270151987. 3

878270151988. 4

Question Number : 87 Question Id : 87827038679 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g A STy Faeg’ Ty owr o fomar a1 2

(1) iTered
(2) U
(3) WG
(4)  Hrcie
Options :

878270151985. 1
878270151986. 2
878270151987. 3

878270151988. 4

Question Number : 88 Question Id : 87827038680 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which US President adopted *Af-Pak Strategy’ ?
(1) William J. Clinton

(2) Barack H. Obama

(3) Donald ]. Trump

(4) George W. Bush

Options:

878270151989. 1

878270151990. 2

878270151991. 3

878270151992. 4

Question Number : 88 Question Id : 87827038680 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

form sriiftent Tezafa & gro ' ST-urer TS’ S STOHMET T o 2
(1) Tafeam S, face

(2) = T, FHEH
(3) SrFes . 29
(4) S S,
Options :

878270151989. 1
878270151990. 2
878270151991. 3
878270151992. 4

Question Number : 89 Question Id : 87827038681 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



C - 13] - 30 Hercules is being used by Indian Airforce for :

(1) Ground Attack

(2) Transport

(3) Training

(4) Anti-surface Warfare
Options:

878270151993. 1
878270151994. 2
878270151995. 3

878270151996. 4

Question Number : 89 Question Id : 87827038681 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"C-13] - 30 TS’ 1 IS ARHA 5 TREer for e e St € 2

(1) Y-SFmm

(2) =R

(3) wfmem

(4) wfo-H (T HURE) g3

Options :

878270151993. 1
878270151994. 2
878270151995. 3

878270151996. 4

Question Number : 90 Question Id : 87827038682 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the fo]li}wmg is not surface-to-surface missile of India ?

(1) Nirbhay
(2) Agni

(3)  Prithvi
(4) Brahmos
Options:

878270151997. 1
878270151998. 2
878270151999. 3

878270152000. 4

Question Number : 90 Question Id : 87827038682 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafes § § S YT 1 Gae-8-Tde W AR FH el fousd 76 8 7

(1) fofg
(2) @A
(3) gt
(4) wEHH
Options :

878270151997. 1
878270151998. 2
878270151999. 3
878270152000. 4

Question Number : 91 Question Id : 87827038683 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following were announced as new members of BRICS at its August, 2023 Summit
meeting ?

(A) Argentina

(B) Ethiopia

(C) Nigena
(D) Saudi Arabia
(E) Indonesia

Choose the correct answer from the options given below :

(1) (&), (B), (C) Only
(2 (A), (B), (D) Only
() (A). (b), (C), (D) Only
() (A) (), (C), D) (E)
Options:
878270152001. 1
878270152002. 2
878270152003. 3

878270152004. 4

Question Number : 91 Question Id : 87827038683 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 2023 B g, o foren doe § feifafe e 2 & 70 gem % &9 | oo )



Options :

878270152001. 1
878270152002. 2
878270152003. 3
878270152004. 4

Question Number : 92 Question Id : 87827038684 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Afghanistan shares border with which of the following Central Asian Countries ?
(A) Kazakhstan

(B) Tajikistan

(C) Turkmenistan

(D) Kyrgyzstan

(E) Uzbekistan

Choose the correct answer from the options given below :

(1) (8), (©) (E) Only
(&) (), (©), D), (E) Only
(3) (B), (C), (D) Only
4 (A) (B), (), D) (E)
Options:

878270152005. 1
878270152006. 2
878270152007. 3

878270152008. 4

Question Number : 92 Question Id : 87827038684 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafea o 4, f57 wea ofoms 2o 3% iy et 1 g frerd 2
(A)
(B)

(C) FHAFTEH
(D) feRefmETmA
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99 fou o fomed § © 9@ SO 5 999 Ffo
(1) % (B), (O), ()

2) Fd (B), (C), (D), (E)
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4) (A),(B), (©), D), (E)
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Options:
878270152005. 1
878270152006. 2

878270152007. 3

878270152008. 4

Question Number : 93 Question Id : 87827038685 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Select the Warsaw Pact member states :

(A) Yugoslavia

(B) Romania

(C) Bulgaria

(D) Poland

(E) Turkey

Choose the correct answer from the options given below :

(1) (A), (B), (C) Only

(2)  (©), (D), (E) Only
(3)  (A), (B), (C), (D) Only
4) (B), (O (D) Only



Options :

878270152009. 1
878270152010. 2
878270152011. 3

878270152012. 4

Question Number : 93 Question Id : 87827038685 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
AT Y- Hee i &l AU
(A) TrReefer

(B) dwrfE
(Q) TR
(D) e

E) TN

4 few o faeredl ¥ 9 W@ ST %1 9 i
(1) %= (A), (B), (O)

(2) %ad (), (D), (E)

(3) Fad (A), (B), (O), (D)
(4) ¥ (B), (O), (D)

Options:

878270152009. 1
878270152010. 2
878270152011. 3

878270152012. 4

Question Number : 94 Question Id : 87827038686 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Identify members of “Triple Alliance” :
(A) France

(B) Germany

(C) Russia

(D) Ialy

(E) Austria - Hungary

Choose the correct answer from the Dptiuns given below :
(1) (A), (B), (O) Only

(2) (B), (C), (D) Only

(3) (B), (D), (E) Only

4) (©), (D), (E) Only

Options :

878270152013. 1
878270152014. 2
878270152015. 3

878270152016. 4

Question Number : 94 Question Id : 87827038686 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T i (feve Tan) % weed U A we
(A)

B) SEA

(©

(D) e

(E) smfe-2m

= feu v fasredi § € 9 39 &1 994 S
(1) F=4 (A), (B) (O)

(2) 9 (B), (C), (D)
(3) =de (B), (D), (E)
4) Faa (C), (D), (B)

Options:

878270152013. 1
878270152014. 2
878270152015. 3
878270152016. 4

Question Number : 95 Question Id : 87827038687 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify principal organs of the UN :

(A) General Assembly

(B) Secretariat

(C) Trusteeship Council

(D) Atlantic Council

(E) World Health Organization

Choose the correct answer from the options given below :

(1) (A), (B), (D) Only

(2)  (A), (B), (C) Only
(3) (B), (C) (D) Only
4) (©), (D), (E) Only



Options :

878270152017. 1
878270152018. 2
878270152019. 3
878270152020. 4

Question Number : 95 Question Id : 87827038687 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

9 U (HFH U GH) ok G S Rl i
(A) HEEYT

(B) Hiaamer™

(C) =t aftug

(D) 3Edifes qftug

(E) Torva w@amey |1ad

= feu o fosredi # | W&t SO F 999 Hifa
(1) 9 (A), (B), (D)

(2) FFA (A), (B), (C)
(3) a9 (B), (C), (D)
(4) FA (C), (D), (E)
Options:

878270152017. 1
878270152018. 2
878270152019. 3
878270152020. 4

Question Number : 96 Question Id : 87827038688 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
Identify realist thinkers :

(A) Niccolo Machiavelli

(B) Kenneth Waltz

(C) Woodrow Wilson

(D) Antonio Gramsci

(E) Alexander Wendt

Choose the correct answer from the options given below :
(D (A) (B), (©), (D), (E)

(2) (8), (©) Only

(3) (A), (C) Only

(4) (A), (B) Only

Options :

878270152021. 1

878270152022. 2

878270152023. 3

878270152024. 4

Question Number : 96 Question Id : 87827038688 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



qeefarel foamai &t Te=H Hifau ;
(A) Trerren Hfswareet
(B) Y A

(©) JeI faewd
(D) TR T
(E) 3Tciohiel a=ee

= feu v fasredi § € 9 39 &1 994 Fife
(1) <= (A), (B), (O), (D), (E)

(2) a9 (B), (C)
(3) = (A), (O)
(4) A (A), (B)
Options:

878270152021. 1
878270152022. 2
878270152023. 3

878270152024. 4

Question Number : 97 Question Id : 87827038689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify key events that occurred during the Cold War :
(A) Berlin Blockade

(B) Kargil War

(C) Vietnam War

(D) Announcement of Truman Doctrine

(E) Annexation of Crimea by Russia

Choose the correct answer from the options given below :
(1) (A) (B), (C) Only

(2)  (©) (D) (E) Only

3)  (A) (©), (D) Only

@) (@A) (B), (©) (D) (E)



Options :

878270152025. 1
878270152026. 2
878270152027. 3
878270152028. 4

Question Number : 97 Question Id : 87827038689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Wags * SR =fed g8 9 =Rl #f ye= Hife

(A) afedT ArRrEE
(B) R I3
(C) foadam g3

(D) A fagia <t =roon

(E) %9 g1 SHIfHar &1 GHHH

= feu T fasredi § | & IO 1 =97 HIfW
(1) &= (A), (B), (O)

(2) =@ (C), (D), (B)
(3) ¥ (A), (O, (D)
4) (A) (B), (Q), (D), (E)
Options:

878270152025. 1
878270152026. 2
878270152027. 3

878270152028. 4

Question Number : 98 Question Id : 87827038690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Select the members of “ Australia Group” :

(A) India

(B) China

(C) Russia

(D) Canada

(E) Australia

Choose the correct answer from the options given below :

(1) (A), (D), (E) Only

(2) (A), (C), (D), (E) Only
(3)  (A), (B), (C), (D) Only
4) (A), (B), (O, (D), (E)
Options :

878270152029. 1
878270152030. 2
878270152031. 3

878270152032. 4

Question Number : 98 Question Id : 87827038690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



' refern TR’ O WEH <9 o g

(A) o

(B) =

(© ==

(D) <RATET

(E) smefem

= feu v fasredi § € 98 39 &1 994 S
(1) = (A), (D), (B)

(2) F=da (A), (O), (D), (E)
(3) = (A), (B), (O), (D)
4) (A), (B), (O), (D), (E)

Options:

878270152029. 1
878270152030. 2
878270152031. 3
878270152032. 4

Question Number : 99 Question Id : 87827038691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following countries have not imposed sanctions against Russia following Russia -
Ukraine conflict in 2022-23 ?

(A) India

(B) Brazil

(€) Saudi Arabia

(D) France

(E) Australia

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) Only

() (A) (8), (C) Only
() () (C), (D) () Only
(4) (A), (B),

)
)
)
4) () (), ©), ) (E)



Options :

878270152033. 1
878270152034. 2
878270152035. 3
878270152036. 4

Question Number : 99 Question Id : 87827038691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

et i 9 SO 7§ Tk He () o TvEd B9 W 2022-23 | Sad i o
(A) oA

Options:

878270152033. 1
878270152034. 2
878270152035. 3
878270152036. 4

Question Number : 100 Question Id : 87827038692 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Identify top three defence spenders as per SIPRI, 2022 data, released in April 2023 :
(A) India
(B) US
(C) China
D)

(E

Choose the correct answer from the optinns given below :

Russia
Saudi Arabia

e

(1) (B) (©), (A) Only
(2)  (B), (D), (E) Only
() (©), (B), (A) Only
(4)  (B), (C) (D) Only
Options :

878270152037. 1
878270152038. 2
878270152039. 3

878270152040. 4

Question Number : 100 Question Id : 87827038692 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270152037. 1
878270152038. 2
878270152039. 3

878270152040. 4

Question Number : 101 Question Id : 87827038693 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Select the beneficiaries under the US Marshall Plan ?
(A) Austria

(B) Greece
(C) Italy
(D) France

(E) West Germany

Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

(2) (B), (C), (D) Only

(@) (B), (), (D), (E) Only
(4) (A), (B), (O, (D), (E)



Options :

878270152041. 1
878270152042. 2
878270152043. 3

878270152044. 4

Question Number : 101 Question Id : 87827038693 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
3 TH A1l A 3 Afdofiri b1 e
(A) ez
(B) AT
(©) el
(D) wE
(B) dfg=m Sl
3 e T ferpedl & @ WE S @ e R
(1) 4 (A), (B), (O)
(2 ¥ (B), (O), (D)
(3) ¥4 (B), (C), (D), ()
4) (A) (B), (Q), (D), (E)
Options:
878270152041. 1
878270152042. 2
878270152043. 3

878270152044. 4

Question Number : 102 Question Id : 87827038694 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Identify G - 20 members :
(A) Argentina

(B) Indonesia

(C) South Korea

(D) Vietnam

(E) Spain

Choose the correct answer from the options given below :
(1) (A) (B), (©) Only

(2)  (A) (B), (©), (D) Only
3)  (A) (B) ©), D) (B)
4) (A), (©) (D), (E) Only

Options :

878270152045. 1
878270152046. 2
878270152047. 3

878270152048. 4

Question Number : 102 Question Id : 87827038694 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



S 20 TSE <9I T YEEH HiITo ;
(A) TSI=

(B) SEMfMA

(C) famor i

(D) faFTI™

(E) =4

= feu v fasredi § € 9 39 &1 994 Fife
() =4 (A), (B), (O

(2) 9 (A), (B), (O), (D)

(3) a9 (A), (B), (O), (D), (E)
(4) = (A), (O), (D), (B)

Options:

878270152045. 1
878270152046. 2
878270152047.3

878270152048. 4

Question Number : 103 Question Id : 87827038695 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify arms control treaties between the US and Soviet Union/ Russia :
(A) SALT-1I

(B) INF Treaty

(C) Hague Convention

(D) Helsinki Accords

(E) New START

Choose the correct answer from the Dptlﬂnb given below :

(1) (A) (B), (D) Only

(2 (A) (B), (©), (D), (E) Only
(3)  (A), (B), (E) Only

(4)  (A) (B), (O, (D) Only



Options :

878270152049. 1
878270152050. 2
878270152051. 3
878270152052. 4

Question Number : 103 Question Id : 87827038695 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g UH Hifedd 99 €9 & 74 vE (2RER) T |l 6 veeH i
(A) THUTA -]

(B) TS T UH HfY

Q) & sAfuemy

(1)

(2 (A), (B), (©), D), (B)
(3) ke (A), (B), (E)
(4) R (A), (B), (C), (D)
Options:

878270152049. 1
878270152050. 2
878270152051. 3

878270152052. 4

Question Number : 104 Question Id : 87827038696 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Identify regional organisation from Asia :
(A) Gult Cooperation Councial

(B) Economic Cooperation Organisation
(C) Arab Maghreb Union

(D) Shanghai Cooperation Organisation
(E) Andean Group

Choose the correct answer from the options given below :
(1) (A), (B), (O) Only

() (A), (B) (C), (E) Only

3)  (A) (B), (C), (D) Only

4) (A), (B), (D) Only

———

Options :

878270152053. 1
878270152054. 2
878270152055. 3

878270152056. 4

Question Number : 104 Question Id : 87827038696 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ufSrn % &g GeAl # gy

(A) e e qiug

(B)  aIfefsRr |WeANT Hite

(C) & HIHE §Y

(D) ¥IE WA HiTeH

(B) UvEdd e

A= feu v fasredi § € 9 39 &1 994 S
() 9 (A), (B), (O)

(2) %=d (A), (B), (O), (E)
(3) =FaE (A), (B), (O), (D)
(4) FFA (A), (B), (D)

Options:

878270152053. 1
878270152054. 2
878270152055. 3
878270152056. 4

Question Number : 105 Question Id : 87827038697 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the neutral’ countries in Europe at the beginning of the 2% World War in 1939 ;
(A) Poland

(B) Norway

(C) Spain
(D) Sweden
(E) Switzetland

Choose the correct answer from the options given below :

R

(1) (©), ), (E) Only
(2 (A), (B), (C) Only
(3) (), (C), (D) Only
(4) (), (C), (E) Only



Options :

878270152057. 1
878270152058. 2
878270152059. 3

878270152060. 4

Question Number : 105 Question Id : 87827038697 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
&Y 1939 H iy g fgata fovags & owa 1 & ‘deey’ <9 &1 TeaH i ;
(A) TivE
(B) T
(€) =
(D) wreA
(E) fesmetre
e feu U fosred # | W& IR 1 =799 FIC

Options:

878270152057. 1
878270152058. 2
878270152059. 3

878270152060. 4

Question Number : 106 Question Id : 87827038698 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Identify presidents of Russia :
(A) Boris Yeltsin

(B) Vladimin Putin

(C) Petro Poroshenko

(D) Dimitry Medvedev

(E) Victor yanunkovych
Choose the correct answer from the options given below :
(1) (A), (B), (O) Only

() (8), (), (D) Only

(3) (A), (O), (E) Only

4) (A), (B), (D) Only

Options :

878270152061. 1
878270152062. 2
878270152063. 3

878270152064. 4

Question Number : 106 Question Id : 87827038698 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4 % T2afadl &1 9eaH &
(A) g Afeefaq

(B) wamfefAY gfe

C) U2 GRre=hl

(D) Tefist AgeeT

(E) forarRz argeRiferd

A feu Ty ferpedi ® 9 @@ ST 1 =T Hif
(1) %= (A), (B), (O)
(2) %ad (B), (C), (D)
(3) Fad (A), (C), (B)

(4) FA (A), (B), (D)

—

Options:

878270152061. 1
878270152062. 2
878270152063. 3

878270152064. 4

Question Number : 107 Question Id : 87827038699 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

China has released a map in 2023 that shows areas that are either claimed or held by India :
A) Uttarakhand
) Aksai Chin
() Sikkim
(D) Arunachal Pradesh
(E) Bhutan
Choose the correct answer from the options given below :
() (A), (B) Only
(2) (B), (C) Only
(3) (B), (D) Only
(4) (D) (E) Only

(4
(B
©



Options :

878270152065. 1
878270152066. 2
878270152067. 3
878270152068. 4

Question Number : 107 Question Id : 87827038699 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
et a1, 2023 7 3 O W S e €, 9 9 6 A oo & R A R e e e e
I o 9 &
(A) IwEe
(B) e

Options:

878270152065. 1
878270152066. 2
878270152067. 3
878270152068. 4

Question Number : 108 Question Id : 87827038700 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Identify disputed areas between India and China :
(A) Aksai Chin

(B) Demchok Sector

(C) Shillong

(D) Srinagar

(E) Barahoti

Choose the correct answer from the options given below :
(1) (A), (B), (E) Only

() (A), (B), (C) Only

(3) (B), (C), (D) Only

4) (O, (D) (E) Only

Options :

878270152069. 1
878270152070. 2
878270152071. 3

878270152072. 4

Question Number : 108 Question Id : 87827038700 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TRa IR 9 ¥ o faefea 45 # wTH >
(A) TS =

(B) SHHAIH T

(C) fereri

(D) 9

(E) @Rr&wdt

= feu v fasredi § € 9 39 &1 994 Fife
(1) %= (A), (B), (E)

(2) A (A), (B), (C)

(3) a9 (B), (C), (D)

(4) FA (C), (D), (E)

Options:

878270152069. 1
878270152070. 2
878270152071. 3

878270152072. 4

Question Number : 109 Question Id : 87827038701 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Terrorist groups that have been active in Jammu and Kashmir are :
(A) Jamiat - Ul - Mujahideen

(B) Palestine Liberation Organisation

(C) Hizb - Ul - Mujahideen (HUM)

(D) Lashkar - e - Toiba (LET)

(E) Hamas

Choose the correct answer from the options given below :

(1) (A), (B), (C) Only
(2)  (A) (©), (D) Only
(3) (A), (), (E) Only
4 (A), (D), (E) Only



Options :

878270152073. 1
878270152074. 2
878270152075. 3

878270152076. 4

Question Number : 109 Question Id : 87827038701 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
FTdeRarE] e S S 3 R | 9iha © © ¢
(A) I 3o Helfea™
(B) Tl forsier Hired
(C) Teso-3a-Tsfecd (T3 3 TH)
(D) R-U-dgen (TA 8 21)
(E) =9
<3 few o ol & & W IO B A
() = (A), (B), (©)
) ¥ (A), (), (D)
(3) @ (A), (O) (B)
) ¥4 (4), (D), ()

Options:

878270152073. 1
878270152074. 2
878270152075. 3

878270152076. 4

Question Number : 110 Question Id : 87827038702 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

dentify correct statement in context of Sustainable Development Goals (SDGs) :
(A) SDGs were adopted in 2020
(B) There are 155DGs in total

(C) The division for Sustainable Development Goals in the UN acts as the Secretariat for the
SDGs

(D) The deadline to achieve the SDGs is 2030
(E) China is the first country to achieve SDG targets
Choose the correct answer from the options given below :

(1) (A), (B) Only
(2} (B), (C) Only
(3) (D), (E) Only
() (C), (D) Only
Options :

878270152077. 1
878270152078. 2
878270152079. 3

878270152080. 4

Question Number : 110 Question Id : 87827038702 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T fosr @ed (T8 1 ) o Hewl H HE o i WA HIN

(A) T SIS 2020 W SR R T

(B) ¥ THE S H FE&A 15 B

(Q) 9T 1 Had forwrg e aieft g wH € S o wfearer & €9 H FE FE

(D) TH el Wi & ifow wwa-gm 2030

(E) = U9 Teen 90 & foen T € S @ed o o o

A feu T feeredl H 9 W& S 1 5 o

(1) @ (4), (B

2) %94 (B), ()
)

Options:

878270152077. 1
878270152078. 2
878270152079. 3

878270152080. 4

Question Number : 111 Question Id : 87827038703 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify member of Collective Security Treaty Organisation :
(A) Armenia

(B) Tajikistan

(C) Turkmenistan

(D) Afghanistan

(E) Kazakhstan

Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

(2) (B), (C), (D) Only

@) (©), (D), (E) Only

(4) (A), (B), (E) Only



Options :

878270152081. 1
878270152082. 2
878270152083. 3

878270152084. 4

Question Number : 111 Question Id : 87827038703 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
T feesk G H1SA o Faedl &l qean] |
(A) SHET
(B) GUEIEESIE)
(C) T
(D) SFMHEME
(E) <RSImE@&—

1= feu U fomedi § | 9d ¢ N 9949 BT

() 9 (A), (B), (O)

(2) =@ (B), (O), (D)

(3) A (C), (D), (E)

(4) A (A), (B), ()

Options:

878270152081. 1
878270152082. 2
878270152083. 3

878270152084. 4

Question Number : 112 Question Id : 87827038704 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Identify terms related to “Realism” :

(A) Balancing

(B) Security Dilemma

(C) Collective Security

(D) Relative Gains

(E) Complex Interdependence

Choose the correct answer from the options given below :

() (A), (B), (D) Only
(2) (B), (C), (D) Only
(3)  (A), (B), (C) Only
(4) (B), (©), (D), (E) Only
Options :

878270152085. 1

878270152086. 2

878270152087. 3

878270152088. 4

Question Number : 112 Question Id : 87827038704 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



oenefere’ § Heifid Wl (U8) T e HY
(A) HITH A

(B) & gferen

(C) Hmfes TqIan

(D) TTufers gifar

(E) ifedt T T

= feu v fasredi § € 9 39 &1 994 Fife
(1) = (A), (B), (D)

(2) 9 (B), (Q), (D
(3) = (A), (B), (O)
(4) = (B), (), (D), (E)

Options:

878270152085. 1
878270152086. 2
878270152087. 3

878270152088. 4

Question Number : 113 Question Id : 87827038705 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Countries that are part of Forum for India - Pacific Islands Cooperation (FIPIC) include :
(A) Fii

(B) New Zealand

(C) Papua New Guinea

(D) Australia

(E

Choose the correct answer from the Dptiuns given below :

Soloman Islands

R

(1) (A), (B), (C) Only
(2 (A)(©) (E) Only
(3) (), (C), (D) Only
(4 (©) ©), (E) Only



Options :

878270152089. 1
878270152090. 2
878270152091. 3

878270152092. 4

Question Number : 113 Question Id : 87827038705 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

TRY R e THifFE agele FI9eH (FIPIC) % 988 € -

(A) TSt

(B) Iieis

(©) Tgem = et

(D) emeefern

(E) W™ AEes

A= feu 7T fosredi # § W& SO & F9H HifT

(1) Fa (A), (B), (O

(2) =@ (A), (O), (B)
(3) 4 (B), (C), (D)
(4) = (C), (D), (E)

Options:

878270152089. 1
878270152090. 2
878270152091. 3

878270152092. 4

Question Number : 114 Question Id : 87827038706 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Identify places where nuclear accidents/ disasters have occured in the past :
Chemnoby]l

Wuhan
Three Mile I[sland
(E) Bhopal

Choose the correct answer from the Dptinns given below :

(A)

(B) Fukushima
©

D

(1) (A) (B), (C) Only
(2 (B), (©), D), (E) Only
(3)  (A), (B), (D) Only
4) (A), (B), (D), (E) Only
Options :

878270152093. 1
878270152094. 2
878270152095. 3

878270152096. 4

Question Number : 114 Question Id : 87827038706 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



I TIHI 1 ST el T SIET TS © -
(A) =AITa

(B) FFHR

(C) e

(D) ¢t TES sl

(E) e

= feu v fasredi § € 9 39 &1 994 Fife
(1) = (A), (B), (O)

(2) F=d (B), (C), (D), (E)
(3) e (A), (B), (D)
(4) 9 (A), (B), (D), (E)

Options:

878270152093. 1
878270152094. 2
878270152095. 3
878270152096. 4

Question Number : 115 Question Id : 87827038707 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Terrorist Organisations active in Africa include :
(A) Boko Haram

(B) Lashkar - e - Toiba

(C) Al - Qaeda in the Islamic Maghhreb (AQIM)
(D) Ansarul Islam

(E) Basque National Liberation Movement
Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

() (B), (C), (D) (E) Only

(3)  (A), (©), (D) (E) Only

(4) (A), (Q), (D) Only



Options :

878270152097. 1
878270152098. 2
878270152099. 3
878270152100. 4

Question Number : 115 Question Id : 87827038707 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
FFT W Gisha e e €
(A) IRl &
(B) TWHI-T-dZHTE
(C) &1 FHe1 T T FEAHF T
(D) AHEA THIMH
(E) ®&h AvH foee gaHe
= feu o fasedi ®§ € WE SO & 999 HIT
(1) &= (A), (B), (O)
(2) ¥ (B), (C), (D) (B)
(3) = (A), (O), (D) (E)
(4) A (A), (©), (D)

Options:

878270152097. 1
878270152098. 2
878270152099. 3

878270152100. 4

Question Number : 116 Question Id : 87827038708 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL
List -1 List - 1I
Army in different situation in Arthashastra Implications
()  Will fight, if paid immediately
) Unpaid Army (I)  Will fight, if honoured with money
) Sick Army (IT) Wil fight, if led by heroic men
) (IV) Unfit to fight

(A) Unhonoured Army
(B

(€
(D) Army repulsed

Choose the correct answer from the options given below :
(1) (AHI, B)-(1), (CHIL), DRIV)

(@ (AHI), (B)-0), (CHLV), (D))

() (AHIV), (B)-() (CH(I), (DHII)

() (AH

)
4) - (AHIV), (B{I), (O, D

(A
(A
(
Options :

878270152101. 1
878270152102. 2
878270152103. 3

878270152104. 4

Question Number : 116 Question Id : 87827038708 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



TeAt-1 % T -1 1 et ifae

areforren st fafir uRfefaat fiyma
H ot &
(A) STHFHIMG Yo () kel Her fie e
(B) aTHT e (I) A 9 g forT < W a2
(C) & JTEAT (IIT) = 5T +¥efeel B W e
(D) H<E g Yol (IV) wreq % fog srgger
A feu o foskedl o 9 W@ SR H 997 HIC
(1) (A1), B)-I), (O~(II), (D)-(IV)
(2) (A, (B)-I), (O-(IV), (D))
(3)  (A)HIV), (B)-(I), (C}-(IT), (D)HII)
(4)  (A)HIV), (B)-(IT), (C)-(I), (D)-(I)
Options :

878270152101. 1
878270152102. 2
878270152103. 3

878270152104. 4

Question Number : 117 Question Id : 87827038709 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Mandala Theory Term Meaning
(A) Ari (I)  Enemy in the rear
(B) Ari- mitra - mitra (II) Enemy
(C) Shatru (IIT) Enemy’s alliy’s friend
(D) Parshnigraha (IV) Antagonist

Choose the correct answer from the options giv en below :

(1) (A)-1V), (B)-(I1L), (CO)-(11), (D)-(1)
(2)  (AHIV), (B)-(1L), (O)-(ILD), (D)-(L

) )
(3)  (A)-(1), (B)-(I), (O)-(IL), (D)-(IV)
(4) (A, (B)-(ID), (©)-IV), (D)-(I)
Options :

878270152105. 1

878270152106. 2

878270152107. 3

878270152108. 4

Question Number : 117 Question Id : 87827038709 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Tiget fagia & g sty
(A) &R O fosd amH Iy
(B) SR-fHA-Toa (I gz
(© w3 (II1) 994 = s =1 o
(D) UeHTE YRELE]

= feu U fosredi § € W& IO 1 =4 HifAC
(D) (A)IV), (B)-(IL), (O)(1L), (D)-(1)

(2)  (A)-(IV), (B)-(IT), (CO)-(I1D), (D)-(T)

(3)  (A)-(ID), (B)-(D), (O)-(IIL), (D)-(IV)

(4) (A1), (B)-(), (©)-(IV), (D)-(I)

Options :

878270152105. 1

878270152106. 2

878270152107. 3

878270152108. 4

Question Number : 118 Question Id : 87827038710 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - [ with List - L.
List -1 List-1I
Term Meaning

(A) Confidence Building Measures  (I) A coalition of nations meant to deter or defend
against military attacks

(B) Track - II diplomacy (Il) Giving up certain type of weapons

(C) Alliance () A process of exchanging information on defence
matters between adversary nations on regular basis

(D) Disarmament (IV) Dialoguebetween the civil society, stake holders and
non-governmental organisations

Choose the correct answer from the options given below :
(1) (A, B)-(I), (CHI), D)-(1V)

(2)  (AH), (B0, ©-1V), D)-0)
(3) (AR, (BHIV), (CHI), DHI)
(4)  (AHIV), (BIIL), (C)-{T), (D)-{)
Options :

878270152109. 1
878270152110. 2
878270152111. 3

878270152112. 4

Question Number : 118 Question Id : 87827038710 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tel-L o 91 i1 1 e it
T Tl

T2 ud

(A) forvars o 3y (R AT TE) () F T % o 30 T 0 o o 35 A T
F T T

(B) o Il (famml) e () Ffowa gam & g & e

(C) ey (Hf) () foafi om0 9iegt T & wed o el W
o (ARG S5 FeH 0 o T

(D) e (V) Tferet el SToiierd o SR §eA o HeA el

7 feu T foered # | W S 1 T e

(1) (AHD), (BR(L), (CHIm), (D)-(IV)

(@) (AR, (B)-{L1), (©-(Iv), (D)-()

(3) (A, (BHIV), (CH), (DHm)

(4)  (AHIV), (B, (CH, (D)-()

Options:

878270152109. 1
878270152110. 2
878270152111. 3

878270152112. 4

Question Number : 119 Question Id : 87827038711 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II

Types of troops in Arthashashtra Meaning
(A) Maula () Regular Standing Army
(B) Bhrita (IT) Territorial Army
(C) Sreni (II) Organised Militia

(D) Atavi (IV) Jungle Tribal forces

Choose the correct answer from the options bwen below :

(1) (AHI), (B)-(I), (O-(L), (D)-{IV)
(2 (AHD, (BRI, (OHIL), (D)-IV)
(3)  (A)HI), (B)-(I), (O-(IV), (D}(II)
(4) (A1), (BMIV), (Cr(I), (D))
Options :

878270152113. 1
878270152114. 2
878270152115. 3

878270152116. 4

Question Number : 119 Question Id : 87827038711 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |1 Ge-11 61 e sife
-1 Et-11
FdymEA A T TR FURR  sifuurg

(A) HreT () Tt el g
(B) fua () YRR JeTd

(C) ot (Il1) Hrfea 9= wfe

(D) 3t (IV) ST ST §= o

= feu v fasredi § § 98 I F1 =94 S
(1) (A)D), (B)-(LI), (O)(I), (D)-(IV)

(2)  (A)D), (B)-(IT), (O)-(I), (D)-(IV)

(3)  (A)(D), (B)-(I), (C}-(IV), (D)-(I)

@) (A)-(), (B)-(IV), (C)-(IT), (D))
Options :

878270152113. 1
878270152114. 2
878270152115. 3

878270152116. 4

Question Number : 120 Question Id : 87827038712 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - IT

Theories Scholars
(A) Offence-defence theory (I)  Barry Posen
(B) Domestic mobilization theory (II) Robert lervis
(C) Security dilemma (II) John Hertz
(D) Balance of power theory (IV) Jack Snyder

Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(LI), (C)~(II), (D)-(IV)

(2) (A, (B)-(D). (O)-(1V), (D)-(II)

(3) (A1), (B)-(IV), (C)-(I1L), (D)-(I)

(4)  (A)-(II), (B)~(ID), (C)-(IV), (D)-(I)

Options :

878270152117. 1

878270152118. 2

878270152119. 3

878270152120. 4

Question Number : 120 Question Id : 87827038712 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 o 919 -1 =1 fHerH shifsre .
-1 GE-11
fagia fegre=
(A) SsRHU-gfaee fasia (1) = grEA
(B) =l (o3fl) Hered fagi (I) T SRiey
(C) Ham gfaen (IT) S &
(D) wfe S fagra (IV) S E=Eel
=1 feu U faepedi § 9§ W& SO¢ 1 99F Fi
(1) (A1), (B)-(1I), (C)-(II), (D)-(IV)
(2) (A1), (B)-(I), (CO)~«(1V), (D)~(III)
(3)  (A)-(ID, (B)-(IV), (O)-(1D), (D)-(L)
(4) (A)-(I), (B)~(11), (O)-(IV), (D)-(I)
Options :
878270152117. 1
878270152118. 2
878270152119. 3

878270152120. 4

Question Number : 121 Question Id : 87827038713 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II
School of Thought Scholars
(A) Functionalism (I) Kenneth Waltz
(B) Neofunctionalism (II) Hans J. Morgenthau
(C) Realism (IIT) Ernst Haas
(D) Neorealism (IV) David Mitrany

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(IIL), (C)-(1), (D)-(IT)

(2)  (AHIV), (B)~(II), (C)-(1D), (D)-(I)

(3)  (A)-(IH), (B)-(IV), (O)-(1), (D)-(II)

(4) (A)-(I), (B)-(1V), (C)-(11), (D)-()

Options :

878270152121. 1

878270152122. 2

878270152123. 3

878270152124. 4

Question Number : 121 Question Id : 87827038713 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |1 Ge-11 61 e sife

Tl-1 -1
feram-—vrmen fegr
(A) WehrETS () =AY Fe
(B) FEYHTHATE 1) T AEEAS
(C) Teefarg (IlI) 31 8™
(D) g (v) efas faar

= feu v fasredi § § 98 I F1 =94 S

(1) (A)-(1V), (B)-(IIL), (O)-(1), (D)-(L)

(2)  (A)(IV), (B)~(IIL), (C)~(11), (D)-(D)

(3)  (A)-(II), (B)A(IV), (CO)-(T), (D)-(I)

(4) (A)-(L), (B)-(1V), (O)-(11), (D)-(0)
Options :

878270152121. 1
878270152122. 2
878270152123. 3

878270152124. 4

Question Number : 122 Question Id : 87827038714 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II

Ports Countries
(A) Pyara Port (I)  Srilanka
(B) Humbantota Port (II) Bangladesh
(C) Chahbar Port () Myanmar
(D) Sittwe (IV) Iran

Choose the correct answer from the options given below :
(1) (A)-(I0), (B)~(I), (C)-(IV), (D)-(II)

(2) (A1), (B)-(IV), (C)-(IL), (D)-(I)

(3) (A1), (B)-(I), (C)-(1V), (D)~(I1LI)

(4)  (A)-(I), (B)-(LI), (C)~(I), (D)-(IV)

Options :

878270152125. 1

878270152126. 2

878270152127. 3

878270152128. 4

Question Number : 122 Question Id : 87827038714 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |1 Ge-11 61 e sife
-1 -1

uré o
(A) =Y R () g
(B) THHIRIUR 1) SR
(C) IERR 9 (IlI) TR
(D) foea qre (IV) A

= feu 7o foredi § | W& I 1 = ST
(1) (A, (B)-(1), (O)-(IV), (D)-(IT)

(2)  (A)-(ID), (B)-(IV), (CO)-(I1D), (D)-(T)

(3)  (A)-(ID), (B)-(D), (O)-(IV), (D)-(LL)

(4)  (A)D), (B)-(I), (O)-(I), (D)-(IV)

Options :

878270152125. 1

878270152126. 2

878270152127. 3

878270152128. 4

Question Number : 123 Question Id : 87827038715 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.
List - 1

Principle Organs and Agencies of UN

List - 11

Their Functions

(A) Security Council () Resolves dispute between and among
member countries

(B) International Court of Justice (I Preservation of International peace and
security

(C) UN High Commission for Refugees
(D) World Health Organisation

(Il) Provide good health for all
(IV) Provide shelter and medical help during

emergencies
Choose the correct answer from the options given below :
(1) (AMD), (BHI), (CHIV), (DK
) (X1, BH{), (V) (DA
3) (AT), (B-(I), (CH), D)-(IV)
(AH (CH), (D)

l
( )
(@) (AHI, B, (OHII), D)-(V)

) )
) )
Options :

878270152129. 1
878270152130. 2
878270152131. 3

878270152132. 4

Question Number : 123 Question Id : 87827038715 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tel-L o 91 i1 1 e it
T 11

3 T (F T ) % 70 e
3 T e
(A) T () W S o dte foere 1 e e &
(B) S A () S i T e S T
(C) 5% T2 (4T Wonel = (I) 7 %1 3 T\ T F
(D) fova @me HA (V) SATIRTERTEE & S 91001 U6l Felfehedanl el e
F
el e U o © 9 T S 0 9 FIC
(1) (A)-D), (B}, (CHIV), (DHII)
(@ (A-, B}, (CHLV), (DHII)
() (A)-1), (B, (C)m), (D)-(IV)
() (A, B)-0), (©HII), D)-(IV)
Options:

878270152129. 1
878270152130. 2
878270152131. 3

878270152132. 4

Question Number : 124 Question Id : 87827038716 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - 11

Agreements Year
(A) Shimla Agreement (Britain, India, Tibet & China) (I) 1954
(B) Panchsheel Agreement (I) 1914
(C) 17 point Sino - Tibetan Agreement (II) 2015
(D) Paris Climate Agreement (IV) 1951

Choose the correct answer from the options given below :

(1) (A0, B)-1V), (C)-(I), (D)-)
(@) (A, B)-[0), (O-1V), (D))
(3) (A, (B)IV), (C)II), (D)-(T)
(4)  (AHD), (BRI, (O-(1V), (D))
Options :

878270152133. 1
878270152134. 2
878270152135. 3

878270152136. 4

Question Number : 124 Question Id : 87827038716 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |1 Ge-11 61 e sife

ﬁ?ﬁ.[ -11

AT L]
(A) Tomen aeda (foee, vra, fassa wd <9) () 1954
(B) U=witel WHaIdl (I 1914
(C) 17 Ta =7 fosaa gweian (I) 2015
(D) URE Soa™ FHeid (IV) 1951

= feu 7o foredi § | W& I 1 = ST
() (A1, (B)-IV), (O)-(L), (D)-(1)

(2)  (A)-(ID), (B)-(I), (C)-(IV), (D)~(IIT)

(3)  (A)-(II), (B)-(IV), (C)-(1I), (D)-(D)

(4) (AL, (B)-(L), (O)(1V), (D)-(I)

Options :

878270152133. 1

878270152134. 2

878270152135. 3

878270152136. 4

Question Number : 125 Question Id : 87827038717 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Reginal Organisation Year of Origin
(A) ASEAN (I) 1985
(B) SAARC (Ify 1967
(C) BIMSTEC (oI 2002
(D) African Union (IV) 1997

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(IV), (C)-(I1I), (D)-(IT)

(2)  (A)-IV), (B)-(1D), (C)-(I1L), (D)-(I)

(3) (A1), (B)-(I), (C)-(1V), (D)~(1LI)

(4)  (A)-(IM), (B)-(IV), (C)-(1D), (D)-(I)

Options:

878270152137. 1

878270152138. 2

878270152139. 3

878270152140. 4

Question Number : 125 Question Id : 87827038717 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |1 Ge-11 61 e sife

-1 -1
& weA T
(A) TEEE () 1985
(B) EIh () 1967
(C) forges (L) 2002
(D) STRIH g9 (IV) 1997

= feu v fasredi § § 98 I F1 =94 S
(1) (A)D), (B-(IV), (C)(LI), (D)~(II)

(2)  (AAIV), (B)~(IL), (CO)-(ILD), (D)-(T)

(3) (A0, (B)-(I), (O)-(IV), (D)-(I)

(4) (A)-(L), (B)-(1V), (O)-(11), (D)-(0)
Options :

878270152137. 1
878270152138. 2
878270152139. 3
878270152140. 4

Question Number : 126 Question Id : 87827038718 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify wars in chronological order of the year of conduct.
(A) Sino - Indian War

(B) India - Pakistan War (Birth of Bangladesh)

(C) Second Sino - Japanese War

(D) Iran - Iraq war

(E) Kargil War

Choose the correct answer from the options given below :

(D (©), (B), (A), (D), (E)

(2)  (©), (A), (B), (D), (E)
(3) (A (B), (Q), (D), (E)
@) (A) (B), (B), (O), (D)
Options:

878270152141. 1
878270152142. 2
878270152143. 3

878270152144. 4

Question Number : 126 Question Id : 87827038718 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Freiifera 2 ) o 3 SR W SR e A it FifeT -
(A) -9 IS
(B) WRd UIfh&I™ & (STTeTiael =1 Sfede H 1M1)
(C) T = <M I
(D) THA-30F IS
(E) FNTA IS
A feu U ferredi W § W& IO 1 =9 T
(1) (©), (B), (A), (D), (E)
(2)  (©), (A), (B), (D), (E)
(3)  (A), (B), (©), (D), (E)
(4) (A) (B), (B), (©), (D)

Options :



878270152141. 1
878270152142. 2
878270152143. 3

878270152144. 4

Question Number : 127 Question Id : 87827038719 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify military operations in ascending order (yearwise) :
(A) Operation Pawan

(B) Operation Polo

(C) Operation Viraat

(D) Operation Vijay (Goa)

(E) Operation Blue Star

Choose the correct answer from the options given below :
(1) (B), (D), (E), (A) (O)

(B), (©), (D), (A), (E)

, (E)

Options :

878270152145. 1
878270152146. 2
878270152147.3

878270152148. 4

Question Number : 127 Question Id : 87827038719 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



fifeRa S FHamsal i R %W | fegifera Fifse (aH-ar) :
(A) SATIEH Yo

(B) TG dredl

(C) SwH fate

(D) wE fas= (Tien)

(E) 90 SRR

= feu v fasredi § € 9 39 &1 994 S

(1) (B), (D), (E), (A), (C)

(2) ®), (O, (D), (A), (E

) )
(3)  (A) (B), (O, (D), (E)
) (A), (Q), (B), (D), (E)

Options:

878270152145. 1
878270152146. 2
878270152147.3

878270152148. 4

Question Number : 128 Question Id : 87827038720 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

List out countries in descending order as per their military spending in 2022 as covered by
Statista

(A) India
) United Kingdom

) China

) Russia

E) United States of America

Choose the correct answer from the options given below :
) () 6) () 0) ()

(E), (4), (), ©. D)

B), (C), (D), (A), (B)

B), (D), (), (B), ()

(B
(C
D
(

U
@
G)
4

(
(



Options :

878270152149. 1
878270152150. 2
878270152151. 3

878270152152. 4

Question Number : 128 Question Id : 87827038720 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

geaifew  fopn T S o e A 2022  fofv S g e e 89 o % amem W 2 R
o) W W g T

2
Wwﬁﬁm

()
@
g
4
Options:

878270152149. 1
878270152150. 2
878270152151. 3

878270152152. 4

Question Number : 129 Question Id : 87827038721 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Identify number of members of NATO in ascending order as per year of joining :
(A) Spain

(B) Germany

(C) France

(D) Monte Negro

(E) Poland

Choose the correct answer from the options given below :
(1) (© (B) (4), E), D)

) (©) (A), B), D) (E)

(3 (A)(C), (B), D), (E)

(4) (A), (B), (D), (C) (E)

Options:

878270152153. 1
878270152154. 2
878270152155. 3

878270152156. 4

Question Number : 129 Question Id : 87827038721 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el W e B o I8 o YR T 3HH TSEdi Bl STel 3 H Hared shiferd ;
(A) T



Options :

878270152153. 1
878270152154. 2
878270152155. 3
878270152156. 4

Question Number : 130 Question Id : 87827038722 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the regional organisations in chronological order from the date of their foundation :
(A) Shanghai Cooperation Organisation (SCO)

(B) Asia - Pacific Economic Cooperation (APEC)

(C) European Economic Community

(D) North Atlantic Treaty Organisation (NATO)

(E

Choose the correct answer from the optmns given below :

Fast Asia Summit

—

(1) @), (B), (E), (O, ()
(2) @) (©) (B) (4) )
(3) O) @A), (€ () @)
@ © ) (A)6) E

Options:

878270152157. 1
878270152158. 2
878270152159. 3

878270152160. 4

Question Number : 130 Question Id : 87827038722 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



W@a%@wﬁﬁwﬁwaﬁmﬂ@%mﬂmmﬁﬂﬁm@mﬁm:
A) YO T T (T A &)

( ) ufern o enfefeR T (e € )

(C) T i FH

(D) W sFeeiics Y HEA ()

(E) 9 ufiran fmer gwer

A fe U fored o @ Wl I A T FI

(1) (D), (B), (E). (C), (A)

(2) (D), (©) (B), (A) (E)

(3) (D) (A), ©) (E) (B)

4 (©), (D), (A), (B), (E)

Options:

878270152157. 1
878270152158. 2
878270152159. 3

878270152160. 4

Question Number : 131 Question Id : 87827038723 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Place the below given joint military exercises by Indian Armed Forces in chronological order of
year of conduct :

(A) Garud Shakt
) Indra

) Khanjar

) Maitri

E) Mitra Shakti

Choose the correct answer from the options given below :
0 () ®) 6 ®)

()B4 6 O

B [O) (A6 ©)

(4) ) ®) E (A)©

(B
(C
D
(



Options :

878270152161. 1
878270152162. 2
878270152163. 3
878270152164. 4

Question Number : 131 Question Id : 87827038723 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
YT G 6 % Feafen S 8 e ) 3 ofed 8 ad % om W A #m §
AT FITT

Options:

878270152161. 1
878270152162. 2
878270152163. 3
878270152164. 4

Question Number : 132 Question Id : 87827038724 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

List External Affairs Ministers of India in chronological order :
(A) Jawaharlal Nehru

(B) Swaran Singh

(C) Bali Ram Bhagat

(D) A.B. Vajpayee

(E) Pranab Mukharjee

Choose the correct answer from the Dptiuns given below :

(1) (A), (B), (©), (D) (E)
(2 (A), (D) (B), (©), (E)

),
(3) (A), (B), (D), (), (B)
@) (A), (B), (D), (E), (O
Options :

878270152165. 1
878270152166. 2
878270152167. 3

878270152168. 4

Question Number : 132 Question Id : 87827038724 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YA & focer HiEl ol HHRAER Fafted ST
(A) TR TE%

(B) &l fog

(C) HfeRmM™ Wrd

(D) 37 feaerl arsua

(E) wE qEs

= Teu T forredi § € W& SO & =91 HifAC
(1) (A) (B), (©), (D), (E)

(2) (A), (D), (B), () (E)
(3) (A), (B), (D), (C), (E)
(4) (A) (B), (D) (E) (C)



Options :

878270152165. 1
878270152166. 2
878270152167. 3
878270152168. 4

Question Number : 133 Question Id : 87827038725 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

List Presidents of India in chronological order :

(A) Dr Rajendra Prasad

(B) AP] Abdul Kalam

(C) Zakir Hussain

(D) Shankar Dayal Sharma

(E) Neelam Sanjeeva Reddy

Choose the correct answer from the options given below :

(1) (A), (B), (Q), (D), (E)

(2)  (A), (), (B), (D), (B)
3) (A) (O), (D), (E), (B)
@) (A (Q) (E), (B), (D)
Options:

878270152169. 1
878270152170. 2
878270152171.3
878270152172. 4

Question Number : 133 Question Id : 87827038725 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YR F TLYfadl &1 Feehy o sHafed Fifa .
(A) Sl TS= 9ER

(B) TYILS. 3Tsgc ™

(C) SRR &

(D) i <A I

(E) e wsf T

= feu v fasredi § 9 9 39 &1 =994 S
(1) (A), (B), (©), (D), (E)

2 (A) (O, (E), (D), (B)

3)  (A) (©), (D), (E), (B)

4) (A) (O, (E), (B), (D)

Options:

878270152169. 1

878270152170. 2

878270152171. 3

878270152172. 4

Question Number : 134 Question Id : 87827038726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

List out ware/conflicts in a chronological order :
(A) Russian invasion of Ukraine

(B) Gulf War

(C) First Congo War

(D) Yam Kippur War

(E) Libyan - Egypt War

Choose the correct answer from the Dptiuns given below :

(1) (E) (D), (Q), (B), (A)
2) (B, (©), (D), {B (A)
(3) (), (D), (B), (O), (A)
4) (), (D) (O, {Af (B)

Options :



878270152173. 1
878270152174. 2
878270152175. 3

878270152176. 4

Question Number : 134 Question Id : 87827038726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Ffefiad g5i/H9dl i HICERHTER SHafeed iy ;
(A) TH & oFd T SABHEHY

(B) WM it 4G
(C) el 435

(D) =¥ fF R g5
(E) fafem e 735

A feu T ferpedi ® 9 @ ST =74 HIfE0 ;
(1) (B), (D), (C), (B), (A)

(2) (E), (C) (D), (B), (A)

(3) (B, (D), (B), (O), (A)

(4) (E), (D), (O), (A), (B)
Options :

878270152173. 1
878270152174. 2
878270152175. 3

878270152176. 4

Question Number : 135 Question Id : 87827038727 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



List out countries that have conducted nuclear tests in chronological order of year of conduct.
(A) Russia/USSR
(B)  United Kingdom
(C) France
(D) India

(E) China

Choose the correct answer from the opt'ums given below :

U (A)®) € & D)

@ 6 @), € 0)
(3) (&) ®), ®, ©)
(@) (@) (D), {) ©) (&
Options:

878270152177. 1
878270152178. 2
878270152179. 3

878270152180. 4

Question Number : 135 Question Id : 87827038727 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
THTY] TETOT SHIA SCT <9I hl FITshHITER ST Fhifer ;
(A) ¥H/]TH TH &R
(B) HEee fehen

(©) wH
(D) 9Ra
E) =

= feu 7o fowedi § 9 9& SO & 999 S
(1) (A (B), (©), (E), (D)
(2) (B, (A), (©), (D), (E)
(3) (A), (©), (B), (E), (D)
4) (A). (D), (B), () (E)

Options :



878270152177. 1
878270152178. 2
878270152179. 3

878270152180. 4

Question Number : 136 Question Id : 87827038728 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : “Whenever the term Balance of Power is used without qualification, it refers to
an actual state of affairs in which power is distributed among nations with
approximately equality.” Hans | Morganthau

Reason (R):  Balance of Power is just an equilibrium in power among the members of the
family of nations as will prevent any one of them from becoming sufficiently
strong to enforce its will upon others. - Sidney B. Fay

In the light of the above statements, choose the most appropriate answer from the options given
below :

(I) Both (A) and (R} are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3)  (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270152181. 1

878270152182. 2

878270152183. 3

878270152184. 4

Question Number : 136 Question Id : 87827038728 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) (A) 3 (R) <1 56 & 4R (R), (A) 3 Wl A §

) (A) 3 (R) S T &, A (R), (A) F1 HE A TG

(

() (A) T & o (R) TR T &

(4) (A) T T ER R) T E
Options :

878270152181. 1
878270152182. 2
878270152183. 3
878270152184. 4

Question Number : 137 Question Id : 87827038729 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Charter of the United Nations - an international treaty obligates member states to
settle their disputes by peaceful means, in such a manner that international peace,
security and justice are not endangered.

Reason (R): ~ When a dispute is brought to the attention of the Security Council, the Council
generally urges the countries involved to approach United States of America for
resolution of the dispute.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3)  (A) s true but (R) is false

(4)  (A)is false but (R) is true

Options:
878270152185. 1
878270152186. 2

878270152187. 3

878270152188. 4

Question Number : 137 Question Id : 87827038729 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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wA g
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feerfe 301 1 &1
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(1) (A) 3 (R) <1 561 & 4R (R), (A) 3 Wl A §
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Options :

878270152185. 1
878270152186. 2
878270152187. 3

878270152188. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).
Assertion (A) : Break up of the USSR, led to independence of Tajikistan in 1991 but soon the

country plunged into civil war.

Reason (R):  In 1994, SRSG led initiatives led to ceasefire agreement and Security Council
established United Nations Mission of Observers in Tajikistan (UNMUT) to assist
the country come out of civil war prevailing since 1991.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3)  (A) s true but (R) is false

(4) (A)is false but (R) is true

Options:

878270152189. 1
878270152190. 2
878270152191. 3

878270152192. 4

Question Number : 138 Question Id : 87827038730 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4 9 Fo fou T E o v (Assertion A) F & i frfga 4 (Gl T HIW (Reason R) F

wA g

AR (A) : T Wior TR §Y (7 T T 4R) o o & T & 1991 dffrem
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(1) (A) 3 (R) <1 5 & 4R (R), (A) 3 el oA &
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(
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Options:

878270152189. 1
878270152190. 2
878270152191. 3
878270152192. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (I) : Since 1949, based on a ceasefire agreement signed by the parties, the United
Nations Military Observer Group in India and Pakistan (UNMOGIP) has been

monitoring the ceasefire agreement,

Statement (II) : United Nations military Observer Group in India and Pakistan (UNMDGIP) is
also responsible to monitor India - China ceasefire line.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement (I) and Statement (II) are correct
(2) Both Statement (I) and Statement (II) are incorrect
(3

(

4)  Statement (1) is incorrect but Statement (1) is correct

) Statement (1) is correct but Statement (II) is incorrect

Options:

878270152193. 1
878270152194. 2
878270152195. 3

878270152196. 4

Question Number : 139 Question Id : 87827038731 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T P UM E
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Options :

878270152193. 1
878270152194. 2
878270152195. 3

878270152196. 4

Question Number : 140 Question Id : 87827038732 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) :  As per Arthashastra ; a king is to devote twelve hours each day to be spent on
state duties, one and a half hour for public audience, three hours to defence,
three hours to secret consultations and intelligence. Balance four and a half hours
on the administration of the state.

Statement (II) : As per Arthashastra ; when in court, the king shall not make petitioners wait at
the door but attend to them promptly himself. When a king makes himself
inaccessible to his people, and he is seen by those near him, wrong decisions are
bound to be made; the people will become angry and may go over to the enemy.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (1) is false
(4) Statement (I) is false but Statement (II) is true

Options:

878270152197. 1
878270152198. 2
878270152199. 3

878270152200. 4

Question Number : 140 Question Id : 87827038732 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

aﬁawﬁw’%:

T (1): Y % SR, T T & Fo o (ol B W ol I sie 1 90 o A
Tolfe 39 S 1 T T W, T 5 o T T T S SR ST 9 g e
T T & T W 70 & ¢

T (I1) : S o STTHR SR § B T W Aceraraiel ) e T JaRd el 6 dfceh 399
) @ TR e | T TS S S & fe Svee T e & 4R S5 T A @
A T9- 9 0 & 1 e (907 ol T T & S 36 Y T Y & 1 ST
Tedl §1 e e & e

TG o o eI §, e T T forped W W IR I A T I
(1) FRIAFRNT T

(2) R 13 e 11 S e

(3) U IR & o o 1T ¢

(4) YR LTI &, T B 1T

Options :

878270152197. 1

878270152198. 2

878270152199. 3

878270152200. 4
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Please read the paragraph given below and answer the questions.
Indian Strategic Perspectives

While ascending India is positively received by several countries, it is true that a few major and
medium powers view the development with a degree of unease. Some of the South Asian countries
apparantly are concerned about the unwelcome consequences of the ‘Big Brother’ becoming bigger
for the already complicated geo - political realities. Many of them are already looking for ways to
balance India’s rise by establishing close military and economic ties with outside powers. Pakistan,
Nepal, Sri Lanka and even Maldives are said to be exploring such policy options. In the past
decade India’s neighbourhood policy has faced more set backs than success. The neighbour in the
North, China perceives India’s attempt to counter the pre-eminence of the former in the region by
entering into strategic relationship with the United States, Europe, Vietnam, Japan, Australia etc.
with a sense of unease. Conversely, India too perceives the Chinese initiatives as inauspicious to
its interests, which is why India refuses to take part in the Chinese OBOR initiatives. Not so long
ago, the Doklam stand off has shown how tenuous is the peace along the Sino-Indian border,
There is also emerging China-Russia partnership aimed at countering the hegemonic role of the
United States, a move with undertones of their displeasures against India’s proximity with United
States. Ironically, the United States too, is not satisfied with India’s conservative position vis-a-vis
Iran, Myanmar and Patestine.

Sub questions

Question Number : 141 Question Id : 87827038734 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

India’s ascendency in South Asia has been recieved with a suspicion. South Asian neighbnurs
have responded to 1t b}f .

(I) By coming together against India.

(2) By expressing their unease with Japan.

(3) By entering into military alliance with European Union.

(4) By establishing close military and economic alliances with outside powers
Options :

878270152201. 1

878270152202. 2

878270152203. 3

878270152204. 4



Question Number : 142 Question Id : 87827038735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is/are true ?

(A) All the neighbours have problems with rising India.

(B) Some of the neighbours have problems with rising India.

(C) In recent past India’s neighbourhood policy has not been that successful.
(D) South Asia has a complicated geo-political realities.

Choose the correct answer from the options given below :

(1) (A),(8), (C), (D) Only

(2)  (8), (C), (D) Only
(3 (A), (D), (C) Only
(4)  (A) (B), (C) Only
Options :

878270152205. 1
878270152206. 2
878270152207. 3

878270152208. 4

Question Number : 143 Question Id : 87827038736 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Sino-Indian relationship can be described as :
(1) A sense of unease

(2)

(3) India supports China-Russia partnership against the USA
(4)

Sino-Indian collaborative initiative in OBOR

China favours India’s atempts to collaborate with the USA.
Options :

878270152209. 1

878270152210. 2

878270152211. 3



878270152212. 4

Question Number : 144 Question Id : 87827038737 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Major irritants of Sino-Indian relations are :
(A) OBOR

(B) Sino-Indian border clashes

(C) India - US Relations

(D) India - Spain relations

Choose the correct answer from the options given below :
(1) (A) (B), (©), (D) Only

(2) (A), (B), (C) Only

(3) (B), (C), (D) Only

(4) (A), (B) Only

Options :

878270152213. 1

878270152214. 2

878270152215. 3

878270152216. 4

Question Number : 145 Question Id : 87827038738 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Recently India has been successful in :

(A) A;;cending India is positively received by several countries.
(B) Winning confidence of all the neighbours

(C) Getling permanent seat in UNSC

(D) Geeting IMF quota revised in its favour

Choose the correct answer from the options given below :

(1) (A) Only

(2) (A), (B), Only
(3) (A), (B), (C), Only
4) (A), (B), (O) (D)
Options :

878270152217. 1
878270152218. 2
878270152219. 3
878270152220. 4

Question Id : 87827038733 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Minimum Instruction Time : 0
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878270152201. 1
878270152202. 2
878270152203. 3

878270152204. 4



Question Number : 142 Question Id : 87827038735 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freffefaa o | #7 QUE FoF 98 ¢ 2

(A) |l TS 9 R BWEA BU WG (YT % 99 T ST WRA) § HHE ¢
(B) T WEIEI <Y1 1 SRA I WD § THEA & |

(C) F8 & 974 T ¥ 9T i 1S9 i 957 T T W ¢

(D) e T 1 9-TsiHifae fowam Sifed @ |

= feu o fosredi o 9@ Wl SR &1 9 Hifa
(1) ¥ (A), (B), (O), (D)
() ¥ (B), (O), (D)
(3) ¥ (A), D), (Q)
(4) ¥ (A), (B), (O)
Options :
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Options :

878270152209. 1
878270152210. 2
878270152211. 3
878270152212. 4

Question Number : 144 Question Id : 87827038737 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :
878270152213. 1
878270152214. 2
878270152215. 3

878270152216. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T & H 9 % @ E

(A) Y@ eliehdifh i <k SR T 3 W |

(B) |ty <90 v vy o

(C) 7 g TR TG (3 T W ) F worh e o

(D) SR T Y (3 T TE) F H T G& | TR (FeE) FH H |
< feu U fowedl § 9 WE S H 99 i

A)

A), (B)

A), (B), (©)

(1
(2
(3
(4

) (
) (
) (
)
Options:
878270152217. 1
878270152218. 2

878270152219. 3
878270152220. 4

Sub-Section Number : 3
Sub-Section Id : 8782701628
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827038739 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension



Please read the paragraph given below and answer the questions.

Prithviraj Chauhan, Prepare for Battle
Preperations for the upcoming battle took nearly all the time of king Prithvi Raj Chauhan. Prithvi
Raj's messengers hurried to the Mandleshwars and the Jagirs carrying the King's demand for fully
equipped fighting units. The samants, his high ranking nobles came forward to offer their services.
Some of the soldiers served the kingdom and received their fee and equipment from the government.
Others were hired mercemnaries and professional soldiers who wore their own uniforms and carried
their weapons of choice. A third category included recruits who were of fighting age.

Sub questions

Question Number : 146 Question Id : 87827038740 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who spent majority of time preparing for battle ?

(1) Prithviraj Chauhan

(2) Mansfield Cumming

)
(3) Lala Lajpat Rai
)

(4) Bhagat Singh

Options :

878270152221. 1
878270152222. 2
878270152223. 3

878270152224. 4

Question Number : 147 Question Id : 87827038741 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What message did the messengers carry ?
(1) Demand of money from farmers

(2) Demand of king for fully equipped fighting units
(3) Information on astronomy
(4) Brahmins to visit enemy kings



Options :

878270152225. 1
878270152226. 2
878270152227. 3
878270152228. 4

Question Number : 148 Question Id : 87827038742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who came forward to offer their services ?
(1) Brahmins

(2) Vaishyas

(3)

(4) Samants and nobles

Shudras

i

Options :

878270152229. 1
878270152230. 2
878270152231. 3

878270152232. 4

Question Number : 149 Question Id : 87827038743 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which category of persons did not join forces of Prithviraj Chauhan ?
(1) Hired mercenaries

(2) Professional soldiers
(3) New recruits
(4) Traders

Options :

878270152233. 1



878270152234. 2
878270152235. 3

878270152236. 4

Question Number : 150 Question Id : 87827038744 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Where did the messengers go ?
(1) Mandaleshars and jagirs
(2) Temples

(3) Trading Centres
(4) Farmers
Options :

878270152237. 1
878270152238. 2
878270152239. 3

878270152240. 4

Question Id : 87827038739 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 87827038740 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

foRE ST SATERRTST WY g5 i dad ¥ o ?

(1) Yeaist 9er

(2) HEHICS FET

(3) T AT T

(4) wrd fHe
Options :

878270152221. 1
878270152222. 2
878270152223. 3

878270152224. 4

Question Number : 147 Question Id : 87827038741 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Sa (HevETed) F1 H TR S 9 ?

(1) FIH & &7 H |

(2) o gEfesTd T TohTS Heielt WS I W
(3

)
) e fasH 9T SRR
)

(4) I TS F SR H YT &G SR

Options:

878270152225. 1
878270152226. 2
878270152227.3



878270152228. 4

Question Number : 148 Question Id : 87827038742 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

379 Qe 27 % folw A S S ?

Options :

878270152229. 1
878270152230. 2
878270152231.3

878270152232. 4

Question Number : 149 Question Id : 87827038743 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
-t 4t 2 i gesfterst <ier 1 & 8 7 vt g 2
(1) ToRT o feq BT 9re o afFe

(2) U AT
(3) T (FI-FHgH)
(4) =9

Options:

878270152233. 1
878270152234. 2

878270152235. 3



878270152236. 4

Question Number : 150 Question Id : 87827038744 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

o (HIIERF ) el I Y ?
(1) TEeRR Ud SFRERT F Y

(2) Hf=T

(3) =IREF F=

4) TFEm
Options :

878270152237. 1
878270152238. 2
878270152239. 3

878270152240. 4



